INDUSTRIAL ALUMINIUM PROFILE SYSTEMS

MODULAR CONSTRUCTION TECHNOLOGIES
ACCESSORIES CONVEYORS SYSTEMS

KATAAOIOZ

PRODUCT LIST
2023
JANUARY

e-mail: sales@aluminium-profile.gr
www.aluminium-profile.gr




Industrial Profiles / T Slot Profiles A\uminium
6 8 10

Profile
| -
20
1.4
- J
Moment of Inertia |Moment of Resistance
Code Product Name Material ' I Area Weight
Ix ly Wx Wy
M 63 20x20 6063 | 0,67cm’ | 0,61cm’ | 0,61cm® | 0,61cm® | 1,42cm? |0,38 Kg/m
6 8 10
L2 (
1.4
-
M f | i i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix iy Wx Wy
M 63/A 25x25 6063 | 1,39cnt | 1,39cmi | 1,11cm’ | 1,11cm® | 2,12cm? |0,55 Kg/m
6 8 10 ~ > o
u 40 - L __.-"r
0 0 1 i
ST Bl I
17 -
4
o
M t of Inerti M t of Resist:
Code Product Name Material olmen ° nf - el R L Area Weight
X y Wx Wy
M 99 20x40 6063 | 4,17cm’ | 1,12cnt 2,08cm®* | 1,12cm® | 2,6cm? |0,73 Kg/m
6 8 10
[.2 ‘ ‘ - =
80 ) _
10 _ 20 ‘ 20 ‘ 20 10 - .
- - - -
| || b
e O - VoV
s
- o
M t of Inerti M t of Resist:
Code Product Name Material olmen ° nle - el R L Area Weight
X y Wx Wy
M 95 20x80 6063 | 29,14cm’| 2,12cm’ 7,28cm?® | 2,12cm® | 4,88cm? | 1,32 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEZ)



Industrial Profiles / T Slot Profiles A\uminium
Profile
6 8 10

(> | e
30
| 23,5
G |
>
3 E» a7 '
S L ﬁ " “N
(/ 8,2
o
@ &

M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 22 30X30 6063 | 2,95cm’ | 2,95cmi | 1,97crh | 1,97cm? | 3.16¢m | 0,85 Kg/m
6 8 10
£.2 4 )
&
o %
M f 1 i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 30X45D 30x45 6063 3,02cm' | 4,57cm’ 2,1cm’ 2.2cm® | 3,35cm? |0,91 Kg/m
6 8 10
Vs

60
53,5

> ! Y
‘o V..

30
23,5
8,2
-

: @7
9
30

*®
9
o> \_
M t of Inerti M f Resi
Code Product Name Material oment ot inertia oment of Resistance Area | Weight
Ix ly Wx Wy
M 26 30X60 6063 | 20,12cm’ | 546cm | 6,71cn® | 3,64cm’ | 5,59cnf | 1,51 Kg/m
6 8 10
K2 (
90
83,5
o~ u
Nl > X
T _TC_ 9 = B Ly J
| br A (D W
ol & w1
-
9
& . s | 30 | \_
M t of Inerti M f Resi
Code Product Name Material oment ot inertia oment of Resistance Area | Weight
Ix ly Wx Wy
M 19 30X90 6063 | 63,29ci' | 7,99cni' | 14,06cnt | 5,32em® | 8,12cm? | 2,19 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)



Industrial Profiles / T Slot Profiles
6 8 10

A\luminium
Profile

[
i
&
L J
1 " 2
L il al \_
M fl i i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
HEX 30 HEXAGON STAND 30 6063 14,6 cm* | 14,9 cm* cm® cm’ 6,3 cm’ | 1,72Kg/m
6 8 10
-
u 35
ro) a7 > ‘
"’ »
8.2
o
M t of Inertia |M t of Resist:
Code Product Name Material olmen 2 nf : onxn o e5|3vance Area Weight
X y X Y
M 11 35X35 6063 | 4,55cm*| 455cm* | 2,6cm’ | 2,6cm’ | 3,67cm? | 0,98 Kg/m
6 8 10
(> | -
35
®
o
Moment of Inertia |Moment of Resistance
Code Product Name Material I I Area Weight
Ix ly Wx Wy
M 11/A 35x35 Heavy 6063 6,7cm’ 6,7cm’ 3,8cm’ 3.8cm | 4,92cm’ | 1,29 Kgim
6 8 10
L2 « g
30
I =
fg ﬁ
2|z 2 L™ a7
ol tjjl
CIX Leig
o
M t of Inerti M f Resi
Code Product Name Material olmen ° nf |a oment of Resistance Area Weight
x y Wx Wy
M 21/L 40x40 S8 6063 | 8,65cm* | 8,65cm® | 4,32cm?® | 4,32cm? | 5,34 cm? |1,44 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEZ)



Industrial Profiles / T Slot Profiles A\uminium
Profile
6 8 10

: 40
L a0 -

(=)
=3
'
-
Moment of Inertia |M t of Resist:
Code Product Name Material ™ Iyl on\:s: o eS|\sN:nce Area Weight
M 04 40x40 6063 | 7,10cm’' | 7,10cm' | 3,55cnt | 3,55cm | 4,49cm? | 1,21Kg/m
40 -
6 8 10
E
-
Moment of Inertia |M t of Resist:
Code Product Name Material ™ Iyl OT;: o e5|\sN:nce Area Weight
M 04/A 40x40 Heavy (S10) 6063 | 10,37cr | 10,37c | 6,05cm® | 6,05cm® | 6,12cm’ |1,65 Kg/m
6 8 10 - . é
2 =
& o
M t of Inertia |M t of Resist
Code Product Name Material olinen ° ncl-:y a OT;: ° e5|\sN:nce Area Weight
M 04/G 40x40 Heavy (S8) 6063 | 12,1cm’ | 12,1cm’ | 5,18cm® | 5,18cm® | 7,32cm’ |1,98 Kg/im
6 8 10
£ g
165
a ™
. =
&
-
M t of Inertia |M t of Resist
Code Product Name Material olinen ° nTy |a orw)r(l ° em;/:nce Area Weight
M13 45x60 6063 |31,29cm'| 1845cm | 10,4cm’ | 8,2cm° | 9,45cm’ | 2,61 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)



A

Industrial Profiles // T Slot Profile uminium
Profile
6 8 10 e ™
£2 v @
P "
] U o
2_553_@_ R o
Bl Zrr s
ZIWCH %
| J
6.8 é
dﬂ =~
- %
Code Product Name Material Molment of Inertia|Moment of Resistance Area Weight
x | Iy Wx Wy
MF 432 40x32 6063 | 5,00cm’® | 7,03cm® | 3,10cm® | 3,52 cm? | 4,90 cm? | 1,32 Kg/m
T Slot Profile A luminium
Profile

Industrial Profiles //
6 8 10

-
L
40
¥
ey
R CT
. Sl 71 — {_ R
PR G
P68 | |,
A0 |
-
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix | ly Wx Wy
MF 328 80x32 ‘ 6063 | 9,44 cm® | 53,14 cth | 590cm® | 13,29 cm?® | 8,63 cm? | 2,33 Kg/m
A\luminium
Profile

Industrial Profiles T Slot Profiles
6 8 10

L4

120

40 .

2:0:¢

| [
PP,

ol
I

40
33,7

-

M t of Inertia |M f Resi

Code Product Name Material oment ot inertia oment of Resistance Area Weight
Ix ly Wx Wy

M 21 40x120 6063 | 200,5cm’| 257 cm’| 33,1cm®| 13,2cm® 13,93 cm?| 3,76 Kg/im

*EAAXIZTO MHKOZ KOIMHZ 1200 xi1A. (FIA 6METPEZ BEPTEZ)

Industrial Profiles // T Slot Profile A\ luminium
Profile
6 8 10 p N
L3 + @
. %%j RO Y/ /
AN ol
6/8 N4 Y T /
40 40 40 7oty /,,:f( }‘;(
160 L n )
Code Product Name Material Molment of Inertia |Moment of Resistance Area Weight
x| ly Wx Wy
MF 416H 40x160 Heavy 6063 738,38 cm'| 53,34 cm® | 92,30 cm® | 26,67 cm® | 31,93 cm?| 8,62 Kg/m

5



Industrial Profiles / T Slot Profiles
6 8 10

A\uminium

Profile

£ (
45
32,5
e | ¢
O >
ik = P
e ] T
o‘;/ 10,2 S
M t of Inerti M f Resi
Code Product Name Material oment ot inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 12 45x45 6063 | 11,09 cm*| 11,09 cm* | 4,93cm® | 4,93cm’ | 5,62cm? |1,52 Kg/m
6 8 10 Ve
E ] 45
335
o
M t of Inerti M t of Resist:
Code Product Name Material oment of ‘nertia el R L Area Weight
Ix ly Wx Wy
M 12/E 45x45 Heavy 6063 | 15,65cm’| 1565cm*| 69cm’ | 69cm’ | 7,63cm? |2,06 Kg/m
6 8 10
90
77,5
-
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 10 45x90 6063 | 78,98 cm' | 20,74 cndt 17,5cm3 9,2cm®* | 9,63 cm? | 2,60 Kg/m
6 8 10
£3 (
90
78,5
- B ]
A
w| 2 “ , ,
K . E 0 " o
&
Tbeopl_fG oD
.‘/ I___I -
NS 10,2
S
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 10/B 45x90 Heavy 6063 |108,14 cm| 28,67 cm® | 24,03cm® | 12,74cm® | 12,86 cm? | 3,47 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)



Industrial Profiles / T Slot Profiles

Auminium
Profile

6 8 10 0 p
(- | 70
40
Il |
o
g
M t of Inertia |M f Resi
Code Product Name Material olinen ° nTy |a orw)r(\to em;t/:nce Area Weight
M 03 40x80 6063 | 49,98 cni | 13,13 ¢ | 12,49cm’ | 6,56cm’ | 7,67 cm? | 2,07 Kg/m
6 8 10 . p
(> 69
40
|
-
o
<
| ,.
g
M t of Inertia |M t of Resist
Code Product Name Material olinen 2 nfy - 0"\;3: o e5|\sN::nce Area Weight
M 03/B 40x80 Heavy (S8) 6063 | 82,3cm”| 20,9cm® | 20,57 cm’ | 10,45cm’ | 11,9 cm? |3,22 Kg/m
10 -
g
M f Inertia |M f Resi
Code Product Name Material c~lr:1ento nima OT;:to e3|\s/;jnce Area Weight
M 03/A 40x80 Heavy (S10) 6063 |69,52 cm’| 18,51 cmit | 17,38 cm® | 9,25 cm’® | 10,23 cm?| 2,76 Kg/m
10 50 Ve
£
3 E 99
-
)
g |og L
M fInertia |M f Resi
Code Product Name Material olr:\ento n(l->yrt|a on\l/s:to em\s/\t/:nce Area Weight
M 46 50x50 6063 | 24,7cm’ | 245¢cnm | 9,88cm® | 9,88cm’ | 10cm? 2,70 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)



Profiles Auminium
Profile

Industrial Profiles / T Slot
6 8 10 Ve

L4

100
85,5
50

50

N
Code Product Name Material Moment of Inertia |Moment of Resistance Weight
Ix ly Wy Wy
M 101 50x100 6063 | 175cm® | 452cm’ | 35cm® | 18,1cm’ |16,92 cm?|4,57 Kg/im
6 8 10
£ [
135
123,8
45
o P £
| 2|~ 2
< g% ‘9' —
C I )
45 \
M t of Inertia  |M t of Resist
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wix Wy
M 60 45x135 6063 | 41,8cm’ | 32,4cm® | 6,19cm® | 14,4cm’ | 18,3cm’ | 4,98 Kg/m
6 8 10
180
M t of Inertia  |M t of Resist .
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wy Wy
M 15 45x180 6063 | 747cm® | 56,7cm’ | 83cm® | 252cm’ | 251cm’ |6,82 Kg/m
8 10
/
£2 °
f( \\
1.7 ' '
P
I a9 <ot -
‘° D‘@C‘“ ‘0-".
\j\j fl:l
-
M t of Inertia  |M t of Resist
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wy Wy
M 28 60x60 6063 |29,85cm’| 29,85 cm*| 9,9cm’ 9,9cm®> | 8,8cm? |2,46 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)



Industrial Profiles // T Slot Profiles
6 8 10 | Ve

/A\lpuminium

rofile

60
o
M f 1 i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area | Weight
Ix ly Wx Wy
M 28/B 60x60 Heavy 6063 | 41cm® | 41cm? | 13,6cm’ | 13.6cn | 11,06 e | 3,05 Kg/m
6 8 10
£ . (
83,5
30 30
L 377
o
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix B Wa Wy
M 28/X 60x90 6063 122cm* | 59,48cm’ | 27,1cm® | 19,82cm’ | 14,73cm® | 4,00 Kg/m
6 8 10
u 1550 4
| 3 30 30
K v g g
—B O O g,
g [ 9
| R = -
1 1 ‘ar ~h = o
e 2 O X = Wy = O
| ﬁ% b I e W . W' 4 f_
- ed
o
M t of Inerti M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 28/Y 60x120 6063 |265,05cm | 75,68cm’ | 44,17cm® | 25,22cm’ | 17,48cn?’ | 4,72 Kg/m
60
6 8 10
(> | 4
2]
o
N
3 22
S L)Y
&
M t of Inerti M f Resi
Code Product Name Material oment ot fnertia oment of Resistance Area Weight
Ix ly Wx Wy
M 02/B 80x80 Heavy (S8) 6063 (143,34 cm‘[143,34 cm*| 35,84 cm® | 35,84 cm® | 19,80 cm’ | 5,37 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)



Industrial Profiles // T Slot Profiles /A\luminium
Profile
6 8 10 80 |

(| 4
3
-
M fl i i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 02 80x80 6063 | 88,08cm’| 88,08cm* | 22,02cm® | 22,02cm’ | 11,91cm’® | 3,22 Kg/m
6 8 10
£ [
|
N
!I ]
I AP
o
M t of Inerti M t of Resist
Code Product Name Material olmen ° nT - el R L Area Weight
x y Wx Wy
M 02/A 80x80 Heavy (S10) 6063 |127,1cm’ | 127,4cm’ | 31,78cm’ | 31,78cm’ | 17,77cnd | 4,80 Kg/m
6 8 10
120
u 110
40 ) 40
y C1 ) U G
' .} 2 4N o N
ﬁ%@@@ o 7,
N 102 m -'-,.
& , N
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 02/X 80x120 6063 | 379,5cm’ | 185,3cm’ | 63,26cm® | 46,32cm’ | 24,33cm? |6,57 Kg/m
6 8 10
(> | s | 4
149 )
40 ) 40
£
LE \_
M t of Inerti M t of Resist
Code Product Name Material olmen 2 nel |a oment of Resistance Area Weight
X y Wx Wy
MG 160 80x160 6063 | 843,8cm’ | 242,2cm* | 105,47cm®| 60,56cm’ | 30,56cm’ | 8,25 Kg/m

*EAAXIZTO MHKOZ KOMHZ 1200 xIA. (TIA 6METPEZ BEPIEZ)
10



Industrial Profiles // T Slot Profiles
6 8 10
=.11]

A\luminium
Profile

p
—
— | '
rdralty
P—— 2 i 4
L -5""‘_‘5.' ™
a
_ gl ol % *
({2 6 el
02 ~
M t of Inertia |M f Resi
Code Product Name Material olmen ° nT |a oment of Resistance Area Weight
X y Wx Wy
M 30/L 90x90 light 6063 |143,13cm' | 143,13cm’ | 31,80cm’ | 31,80cm’ | 15,20cn | 4,10 Kg/m
6 8 10 -
&
YA N
S
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 30 90x90 6063 | 192,84cr|192,84cm' | 42,8cm° | 42,8cnt | 20,67crd | 5,58 Kg/m
6 8 10
= BT <
X b
Al [
u TN A
-
M t of Inertia |M f Resi
Code Product Name Material olmen ° nT |a oment of Resistance Area Weight
X y Wx Wy
M 30/A 90x90 Heavy 6063 |220,49cnt | 220,49cnt | 48 9cmi | 489cmt | 25,31cm? 6,83 Kg/m
6 8 10 . : -
(]
1
! I
T f -
M t of Inertia |M t of Resist
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly W Wy
MG 100 100x100 6063-T5|295,46¢cm'| 295,46cm* | 59,09cm’ | 59,09cm’ | 25,51 cm?| 6,89Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)

11



Industrial Profiles // T Slot Profiles /A\luminium
Profile
6 8 10
¥ - N _
X 3o I

i

90
78
45

:
5 xS o A
/ N e v \
G K Vi N8 X=X
- % PLal L ¥ ¢

3
é\ 102 | 45 45 45 | \
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 14/L 90x180 6063 | 1240,6cm | 361,5cm | 137,8cm | 80,3cm® | 37,1cm? | 10,01 Kg/m
6 8 10 180

u 495 N 495 ‘ ( / : - e

g T3

» =
s X X = x
H i
o X N o x

90
78
45

l,-’-’-’.
/02l 45 | 45 | 45 | \

M t of Inertia  |M t of Resist
Code Product Name Material olinen ° ncl-:y a orr\;s: ° eSI\sN:nce Area Weight
M 14 90x180 Heavy 6063 | 1499cri | 427.6cri | 166,5cmt | 95,02cm’ | 46,7cmi | 12,60 Kg/m

6 8 10
8 R ¢

M t of Inertia |M t of Resist
Code Product Name Material oITen ° nely - orr\;\t;: g esa/:nce Area Weight
M 32/A 90x135 6063 | 653cm’ |313,64cm’ | 96,74cm’ | 69,70cm’ | 34,42cnt | 9,29 Kg/m

6 8 10
135
p
3\
Eew
. 102 ﬁ C]— N
45 45

Moment of Inertia |M t of Resist:
Code Product Name Material ™ Iyl on\;s: o eSISance Area Weight
M 32 135x135 6063 |897,64cm| 897,64cnt| 132,91cm’ | 132,91cm’ | 44,52¢cn | 12,02 Kgim

*EAAXIZTO MHKOZ KOMHZ 1200 xIA. (TIA 6METPEZ BEPIEZ)
12



Industrial Profiles // Surface Coating Profiles /A\[uminium
Profile
6 8 10 -

\‘(
I
1 N\ } -—— -
I
[
20
. %
M f 1 i i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
AL 112 11x20 6063 | 0,13cm® | 0,52cm’ | 0,20cm’ | 0,52cm’® | 1,02 cm” | 0,28 Kg/m
6 8 10
u *NQAEITAI MONO 2 METPH BEPTA
Y / :
I
X ! -
N
N . J
22,5
.
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
AL 152 15x22.5 6063 | 0,33cm‘ 0,81cm' | 0,40cm® | 0,72cm® | 1,21 cm? | 0,33 Kg/m
6 8 10 *MIQAEITAI MONO 3 METPH BEPTA
(> | e
05
Y
x- ML
N\ . J
40
.
M t of Inerti M t of Resist
Code Product Name Material oment of ‘nertia el R L Area Weight
Ix ly Wx Wy
AL 164 16x40 6063 | 0,69cm* | 3,71 cm’ | 0,84cm® | 1,86cm’ | 2,45cm? | 0,66 Kg/im
6 8 10 *EAAXIZTO MHKOZ KOIMHZ 1000 xIA. (TIA SMETPEZ BEPIEZ)
043
Y
—N)
Ny Gl R i 2\
N~ | \_//\t )~
40
80
I
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
AL 168 16x80 6063 | 1,57cm’ [31,32cm’ | 1,89 cm’ | 7,83cm’ | 4,98 cm? | 1,34 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1000 xIA. (FIA 3BMETPEZ BEPIEZ)

13



Industrial Profiles // Surface Coating Profiles /A\luminium
Profile
6 8 10

| -
40 )
20
- 2
O
6,4
&
o
M t of Inerti M f Resi
Code Product Name Material olinen ° n? |a or:!/:nto est\t/ance Area Weight
y x y
FC 40 10x40 6063 | 3,37cm‘ | 0,20cm’ | 1,68cm’ | 0,40cm’® | 2,04cm’ | 0,55 Kg/m
8 10 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'IA 6METPEX BEPIEX)
£ p
= 120 -
B - S .
(PSS
et |
L Sl el 3 |
82 . 3 | 15 2
o
M f | i M f Resi
Code Product Name Material olmento nlertla on\;\jnto est\t/ance Area Weight
x y x y
M 17 15x120 6063 | 105,7cm’| 2,1cm* | 17,6cm*® | 28cm® | 86cm? |2,33 Kg/m
8 10 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FA 6METPEX BEPIEX)
(- | 4
146
13 Lol & | |
= " r_u'
I
S| o 0 I 18
o
Code Product Name Material Molinent of Imleyrtla Morrxnt of Rem;t/:nce Area Weight
X
AL 146 17,7x146 6063 |108,3cm'| 2,7cm’ 19,2cm®* | 3,2cm® | 9,1 cm? [56,626 Kg/m
6 10 *EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (TA 6METPEZ BEPIEZ)
(N [l > | e N
e Nut 8 Nut 5
<2_0.‘ o0 =
») EE ! g) { N
=N %@i - —
12 <
@)
160
o %
M t of Inerti M t of Resist:
Code Product Name Material oII:en ° nf - on&:n s em;/:nce Area Weight
b X
AL 160 16x160 6063 | 3,76cm’ | 304,4cm’ | 4,19cm® | 38,05cm’ | 15,25¢m’ | 3,70 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1000 xIA. (A 3SMETPEZ BEPTEZ)

14



Industrial Profiles // Surface Coating Profiles /A\luminium
Profile

6 8 10 Ve ~
145
40 40 40
x| |
8 - | - - | - E-<
40 40 ".I'r"- x ,Ff" ' I.'rr 4 .l'l-
152 L J
M t of Inertia  |M t of Resist
Code Product Name Material oment of nertia oment of Resistance Area Weight
x [y Wi Wy
MF 17 20x152 6063 7,56% ‘350,584 7,353 46,19° | 18,272 | 4,93 kg/m
6 8 10
180
22,5 45 ‘ 45 ‘ 45 225
N O
' 02
M t of Inertia |M t of Resist
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 16 22,5x180 6063 |570,9cm’ | 11,7cm | 63,43cm’ | 10,4cm | 21,1cm’ | 5,70 Kg/m
6 8 10
-
L4
140
35 . 70 , 35
| P
1
o G|
6,4
22 | 9% 22
N\ J
M f Inertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 15 ZE 22x140 6063 | 365cm’ | 7.2cm' | 52,14cm’ | 6,54cm® | 19,8cm’ | 5,39 Kg/m
6 8 10
p
L4
170
42,5 ) 85 ) 42,5
| —
N p &
64 |||
26,5 | 117 26,5
N J
M t of Inertia |M f Resi
Code Product Name Material olmen ° nf 1 oment of Resistance Area Weight
x y Wx Wy
M 20 ZE 27x170 6063 | 852cm* | 16,8cm’ | 100,2cm’ | 12,4cm’ | 32,44cnf | 8,79 Kg/m

15

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEX BEPIEX)



Industrial Profiles // Radius & Angled Profiles /A\yminium
Profile
6 8 10
— 4 Y
S5 ol @5
n Q
10
20
o %
M t of Inerti M t of Resist:
Code Product Name Material olmen ° nle |a el U L Area Weight
x y Wx Wy
M 63/R 20x20 Radius 6063 |0,65cm’ | 0,65cm’ | 0,61cm® | 0,61cm® 1,42 cm? | 0,38 Kg/m
4 2\
N N
-A
o %
M t of Inerti M t of Resist:
Code Product Name Material |——nent ot fnertia AN B Weight
Ix ly Wx Wy
M 22/R 30x30 Radius 6063 [2,15cm’ 215cm’ | 1,30cm?® | 1,30cm® | 2,78 cm? |0,77 Kg/m
10 4
L S
| .‘
-
M t of Inerti M t of Resist:
Code Product Name Material olmen ° nle - oment of Resistance Area Weight
x y Wx Wy
M 21/R 45x45 Radius 6063 | 85cm’ | 85cm* | 3,38cm® | 3,38cm?® | 4,46 cm? |1,24 Kg/m
8 10 Ve N
(| 40
N\ - ™
<] a7 '!
hgv; |14 hl’
8.2
tH . )
M t of Inerti M f Resi
Code Product Name Material olmen ° nf |a oment of Resistance Area Weight
x y Wx Wy
M 39/A 40x40 (45°) 6063 | 44cmi | 44cnt | 1,90cm® | 1,90cm® | 3,43cm’ |0,93 Kg/m
*EAAXIZTO MHKOZX KOIMHZ 1200 xIA. (FIA 6METPEZ BEPIEZ)

16




Industrial Profiles // Radius & Angled Profiles /A\|uyminium
Profile

6 8 10
£J . p
¥
2F.
an "
- _ L]
. L o G o
M t of Inerti M t of Resist
Code Product Name Material oment of ‘nertia el U L Area Weight
Ix ly Wx Wy
M 83/R 80x80 Radius 6063 |48,43 om’ 48,43 om’ 12,10 cm?® | 12,10 cm?® | 10,23 cm?| 2,76 Kg/m

A\uminium
Profile

6 8 10
-
[
Yo}
3 g
o 8,2
o
Q
\_
M f Inerti i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 22-K 30x30 Closed 6063 | 3,17cni | 3.18cni | 2,05cm’ | 2,05cm’ | 3,37cmi | 0,91 Kg/m
6 8 10
>
-

u -.I
- et

M f Inerti i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 23-K 30x60 Closed 6063 |21,55cm*| 590cm* | 7,18cm® | 3,93 cm® | 5,92 cm? | 1,60 Kg/m

*EAAXIZTO MHKOZ KOMHZ 1200 xIA. (TIA 6METPEZ BEPIEZ)
17



Industrial Profiles / Closed Profiles /A\luminium
Profile
6 8 10

£3 ° (
o *- @9
g ;: "‘
j Js .
-
M fInertia |M f Resi
Code Product Name Material oment of nertia oment of Resistance Area Weight
Ix ly Wx Wy
M 04-K 40x40 Closed 6063 | 7,24cm’ | 7,27cm’ | 3,52cmt | 3,52cm? | 4,6cm? | 1,27 Kg/m
6 8 10
E ] 45 e
32,5
7t T N\
© ;) @9 I ‘ '
s W
=/
Q?’/ 10,2 \
M f Inerti i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 05-K 45x45 Closed 6063 | 11,78cm’ | 11,78cm* | 5,24cm® | 5,24cm® | 5,90cm’ | 1,59 Kg/m
6 8 10
(- | o . -
40
s *- Q . '
Cwg 6 & Y
‘ L IJ
l10,2
N\
M fInertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 03-K 40x80 Closed 6063 | 50,9cm' | 12,9cm’ | 12,51cnt | 6,23cm’ | 7,7cm? | 2,08 Kg/m
6 8 10

g .
1 ' b L
gt N . ,j

M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 09-K 45x90 Closed 6063 | 83,69 cm’?| 22,22 cm* | 18,59 cm?® | 9,87 cm® | 10,01 cm?| 2,73 Kg/m

*EAAXIZTO MHKOZ KOMHZ 1200 xIA. (TIA 6METPEZ BEPIEZ)
18



Industrial Profiles / Slide Profiles 2 Ingirilil.JllTl

6 8 10
I 4
2,88
2,88

|
e

H

| |
14,85 ‘\"”7

25,75
18

M t of Inerti M f Resi
Code Product Name Material oment ot fnertia oment of Resistance Area Weight
Ix ly Wx Wy

MG 37 SLIDE PROFILE 18 X 37 | 6063 | 4,15cm®*| 1,37 cm* | 1,06 cm® | 2,24 cm® | 3,28 cm? | 0,89 Kg/m

6 8 10
(| s
3,7
3,65
8,5 &
INE
3 @ < =
& - - = z \_
i
M t of Inerti M t of Resist
Code Product Name Material oment of tnertia el R L Area Weight
Ix ly Wx Wy

MG 28 SLIDE PROFILE 18 X 28 | 6063 | 2,24cm’ | 1,09cm’ | 0.92¢cm® | 1,6cm® | 2,82 cm? | 0,76 Kgim

Industrial Profiles / Guidance Profiles A\uminium
Profile

XQPIZ TPYNEZ

Bdpog | Alaotdoeig (mm) Mrkog: 6000 xiIAlooTé
kg/m A H H1| B |@d1] C1| C2 |[KDIN 6912
12| MDP 12 0,69 40 1 22°01| 5 |29 45|50 | 75| M4x16

16| MDP 16 0,84 45| 26:0,1| 5 | 33 |55| 50 100| M 5x20
200 MDP20 1,23 52 | 32'0,1 58| 37 |6,5| 50 | 100| M 6x25
25| MDP25 1,44 57 | 36:0,1| 6 | 42 |6,5| 60 |120| M 8x30
30| MDP30 2,00 69 (420,15 7 | 51 |8,5| 75 |150| M 10x35

40| MDP40 2,71 73 150:0,15) 8 | 55| 9 |[100|200| M 10x40
* 10 TTOPATTAVW TTPOo@iA dev TrepIAapBdavovTal ol d§oveg
*ENAXIETO MHKOZ KOIHZ 1200 IA. (FA 6METPEZ BEPIEL)

gD| Kwdikég

19



Profile

Industrial Profiles / Conveyor Profiles A\luminium
6 8 10

23

-
&
e R
N
o :] 7:
0
2 <! ™
—y ™M
2
©
A Al o
M fl i i
Code Product Name Material oment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 24/D 23x75 6063 | 26,03cm*| 3,11cm’ 6,94cm’ 2,70cm® | 4,86cm’ 1,31 Kg/m
6 8 10
(| 4
127
‘ 64 205
o 285 44 { [E
| C C
82
o
M t of Inerti M t of Resist:
Code Product Name Material oment of ‘nertia el L Area Weight
Ix ly Wx Wy
M 29 23x127 6063 113cm* | 114,6cm’ | 0,86cm® | 98,2cm’ | 7,4cm? |2,05 Kg/m
6 8 10
L2 (
175_ 175 423 21,7
1.3
: vy g
gy B s B
85|
105
o
M f 1 i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 29/A 25x105 6063 | 24cm® | 86,7cm* | 0,45cm’ | 69,36cm° | 7,42cm’ | 2,00 kg/m
6 8 10
(| 4
3295 _ 185 62.7 185_17.35
3
B s | I s IJ > el
J e
150
\_ )
M t of Inerti M f Resi
Code Product Name Material oment ot inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 29/B 25x150 6063 |24517cm’| 3,43cm’ | 32,68cm’ | 2,74cm’ | 10,71cm? | 2,90 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEZ)
20



. : Conveyor/Panel A\ o
Industrial Profiles // Floor cover Profiles lelr;","m
6 8 10

L2 ] 4
)
2.7
10,2 \
447
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix |y Wx Wy
M 24 45x75 Conveyor 6063 | 45,80cm’ | 23,46cm’ | 20,35cm’ | 6,25cm> | 9.42cm? | 2,54 kg/m
6 8 10 22,5
32 8.2
-
5/
.
1
) oL
Tp]
<
-
Code Product Name Material Homentiofiiner s Mementiefites!sance Area Weight
Ix ly Wx Wy
PP 45 Panel Profile 22,5x45 6063 | 2,95cm’ | 8,15cm’ | 2,62cm® | 3,62cm’® | 4,63cm® | 1,25 Kg/m
*EAAXIZTO MHKOZ KOIMHZ 1200 xiA. (TIA 6METPEE BEPTEX)
6 8 10
N . e
' 1
S K
)
L/
7.5 07.3
30 \_
M fInertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
AL 30 SG Cover Profile 30x30 6063 | 2,48cm* | 2,91cm’ 1,58cm’ 1,83cm’ | 3,13 cm® | 0,85 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1000 xIA. (A 3SMETPEZ BEPIEZ)

21



6 8 10

Corner Connectors(Plain) /A\luminium

Profile
[ Jl] >
4 ) 4 )
o J o J
Code Profile External Product Name A | B C D H Material Weight
M 53 30x30 Straight Corner Connection 28 |22.5| 40 | @6 | 7 | Aluminium 21gr
M 53/C 40x40 Straight Corner Connection| 37 | 37 | 20 |(@8.2| 6.5 | Aluminium 39 gr
M 53/A 45x45 Straight Corner Connection| 42 | 42 | 22.5|@8.2| 7 | Aluminium 56 gr
M 53/B 80x80 Straight Corner Connection| 76 | 20 | 76 |@8.5| 8,3 | Aluminium 206 gr
Connection Accessories // Angles A\ uminium
Profile
6 8 10
€2 ca/ka
4 . ) 4 I
—t
-
) - i
L= -
- J - %
Code Product Name A B Cc H L 2D Material Weight
MF 20 Angle 20x20x38 (40x20) 20 | 38 | 10 3 20 5.5 | Aluminium 12 gr
MF 40 Angle 40x40x76 (40x80) 252 | 48 [125| 4 25 7 Aluminium 23 gr
MF 45 Angle 45x45x86 (45x90) 45 | 86 |225| 6 | 45 9 | Aluminium | 12gr

22



6 8 10

[ JY N | N |
4 N 4 ! } N
- J o J
Code Prof External Product Name H w D Material Weight
M 54/K 20-25 Wide Corner Connection 20 | 175 | 5 | Aluminium | 155gr
M 55/G 30x30 Wide Corner Connection 28 | 28 | 6.5| Aluminium | 415 gr
M 55/H 40x40 Wide Corner Connection 37 | 37.7 | 9 | Aluminium | 49gr
M 55/H8 40x40 Wide Corner Connection S8 37 | 37.7 | 9 | Aluminium | 49gr
M 54/G 45x45 Wide Corner Connection 44 | 43 | 9 | Aluminium | 75gr
M 54/F 60x60 Wide Corner Connection 57 | 57 | 6.5| Aluminium | 98gr
M 54/1 80x80 Wide Corner Connection 78 | 77 | 10 | Aluminium | 226 gr
M 54/1 8 80x80 Wide Corner Connection S8 78 | 77 | 10 | Aluminium | 226 gr
M 52 90x90 Wide Corner Connection 84.7| 86.5 | 9 | Aluminium | 366 gr
M 96/K 20-25 Wide Corner Connection Cover - - - Plastic 2gr
M 97/G 30x30 Wide Corner Connection Cover - - - Plastic 4gr
M 97/A 40x40 Wide Corner Connection Cover - - - Plastic 8ar
M 96/G 45x45 Wide Corner Connection Cover | - - - Plastic 10 gr
M 97/B 60x60 Wide Corner Connection Cover - - - Plastic 8gr
M 97/C 80x80 Wide Corner Connection Cover - - - Plastic 27 gr
M 96/D 90x90 Wide Corner Connection Cover - - - Plastic 24 gr
Corner Connectors -
Fasteners /A
Y reniatoes Al
6 8 10
‘ ‘
4 N 4 N
¥
1
&y i
1.0
|
N\ J N\ J
Code Prof External Product Name A D Material Weight
M 55 30x30 Corner Connection Narrow @6.5 |  Aluminium 54 gr
M 54 45x45 Corner Connection Narrow 10 | ©8.5 | Aluminium 59 gr
G 45 ggigg Corner Connection Narrow Cover | - - Plastic 7.5gr

23



N

6

8

10

(>

L4

Code Prof External Product Name D Material |Weight

M 120 40x40 45° Angle Corner Connector | @8.5 | Aluminium | 86 gr

M 121 45x45 45° Angle Corner Connector | @10 | Aluminium | 98 gr

@ M 123 30x30 45° Angle Corner Connector | @8.5 | Aluminium |33.5 gr
@ M 125/S 25x25 40/45° Angle Corner Connector | @6.5 | Aluminium |30.1 gr

Connection Accessories // 45° Angle Connector A\uminium
Profile

6 8 10
[ J{f N ||
f N
- / )
£

N J N
Code Product Name A B (o3 H @D Material Weight
MF 42 Angle Connector 20x40 S6 40 | 20 | 16 5 8.5 | Aluminium | 19.2 gr
MF 60 Angle Connector 30x60 S8 60 | 30 |165| 8 8.8 | Aluminium | 41.2gr
MF 21/SS | Angle Connector 40x80 S8/10 | 80 | 40 | 18 8 8.8 | Aluminium | 166.2 gr

24




Corner Connectors (Long) And End Covers
6 8 10

(b | |
4 ) 4
o J o
Code Prof External Product Name A B D Malzeme | Weight
M 54/C 30x60 Corner Connection Long | 27.2| 57 | 6.5 | Aluminium | 48gr
M 54/A 40x80 Corner Connection Long 37.5| 78 [10.5 | Aluminium 114 gr
M 54/U 45x90 Corner Connection Long 42 | 842 | 9 | Aluminium | 142gr
M 54/P 30x60 Corner Connection Long Cover| - - - Plastic 10 gr
M 54/B 40x80 Corner Connection Long Cover| - - - Plastic 10 gr

Adjustable Angle Corner Bracket

6 8 10
£2 2
-
s B,
R (LS
AN IR
[ AN
r. - C £ 53 5
'l A _‘_.-
L Nr‘;:'_ "‘}'-g.:
-
Code Product Name A B C D Malzeme | Weight
MF 3035 | Adjustable Corner Bracket 30x35 | 30 | 40 | 28 |@6.5| Aluminium | 21gr
MF 4045 | Adjustable Corner Bracket 40x45 | 40 | 50 | 38 |@6.5| Aluminium | 44 gr

6 8 10

(> ] |
4 M 4 M
- J - J
Code Prof External Prof External A B D Material | Weight
M1/T 40x40 A Triangle Corner Connection 36 | 36 | @8.5| Aluminium| 56 gr
M2/T 40x40 A Triangle Corner Connection Cover | 40 | 40 - Plastic 7gr
M 3/T 40x40 Square Corner Connection Cover | 40 | 40 - Plastic | 13.5gr

25




Radius Corner Connectors

Fasteners /A
— and End Covers LI
6 8 10
b Jif N |l
4 ) 4 )
L ol
- J o J
Code Prof External Prof External A Cc D | Material |Weight
M 56/R 20x20 Radius Corner Connection 18.5| 10 | 6.5 | Aluminium | 12 gr
M 55/R 30x30 Radius Corner Connection 28 | 15 | 8.5 | Aluminium | 42 gr
M 54/R 45x45 Radius Corner Connection 42 |22,5(10.5| Aluminium | 136 gr
M 96/C 20x20 Radius Corner Connection Cover | 20 | 3 - Plastic 2gr
M 96/A 30x30 Radius Corner Connection Cover | 30 3 - Plastic 4qr
M 96/B 45x45 Radius Corner Connection Cover | 45 | 3 | - Plastic | 14 gr
M 87/A 20x20 Square Corner Connection Cover | 20 | 2 - Plastic 3gr
M 87/B 30x30 Square Corner Connection Cover | 30 | 3 - Plastic 8gr
M 87/C 45x45 Square Corner Connection Cover | 45 3 - Plastic 22 gr
Cutting Bush
Fasteners // 9 A umInIUITl

o

with Shank

Profile

3x120° -0
r 3 L}
{©\I WI : - {E
| -
E-1 &
=]
M8 o

= _810.7

- J N\ J

Code Product Name A B C gD | @d | L M Material | Weight
MF 801 Cutting Bush with Shank 10 | 10.7 | 9.7 | 16 [10.7 | 9.7 | 16 |8 (3x120°)|Steel Zinc| 3.8 gr

LJ

LJ

4 )
38 14
"
r-'_+'_‘1-
= “.1&
]
[
Tgw S
19 9.9
- J
Code Product Name A B C M | gd | L | Material | Weight
MF 38 Direct Connector B Set S 8/10 | 9.9 | 19 14 6 |Sw3| 38 |SteelZinc| 364gr

26



Fasteners // Head Bolts A\luminium
Profile
6 8 10
[ i < )| |
4 I 4 I
- J N J
Code [ | Product Name M A B oD Material Weight
M 44/C Slot 6 Head Bolt M6 | 35 | 20 | 105 8.8 Steel 45gr
M 44/B Slot 8 Head Bolt M8 | 52 | 25 | 16 8.8 Steel 13 gr
M 44 Slot 10 Head Bolt M10| 6 30 | 175 | 8.8 Steel 21gr
Fasteners // Inner Slot Connector
6 8 10
[ |
f N
4
N J
Code [ | Product Name M |A | B | C |Material Weight
M 86/B Slot 8 | Inner Slot Connector | M8 | 15 | 26.4 | 12.5 Steel 15gr
M 86/J Slot 10 | Inner Slot Connector |M10| 19 | 30 | 17.5 Steel 27 gr




6 8 10
(|
4 ] N
oL,
‘I‘
N H
\_ J
Code Product Name A B H L | Material | Weight
MF 1S80 | Screw Connector | S8 Double | 35 17 10 35 |Steel Zinc | 20.7 gr

28

(> |
4 N
B
i~ :
L
wf
+
o J
Code Product Name A B H D | Material | Weight
MF 1S81 | Screw Connector | S8 Single |255| 17 10.2 8.5 |Steel Zinc | 8.6 gr

minium

rofile



A - -
Do Z R
6 8 10

4 I
22
] )
=
u ™
" =
[T.]
M ~
g J g
Code Product Name A B (] D M d L | Material | Weight
MF 322 Modular Nuts M3 S8 Ball 081|135 |78 |1.75| 3 | 7.2 | 22 |Steel Zinc| 10.9gr

uminium
Profile
6 8 10
4 I 4
&
4 " - o
& J - J
Code Prof External Product Name A D R Material Weight
M 115 30x30 Three Corner Cube Connector | 30 | @20,5 Aluminium | 38,5 gr
M 117 40x40 S8 Three Corner Cube Connector | 40 | @26,6| 4 | Aluminium | 94,5gr
M 117/S10 40x40 S10 Three Corner Cube Connector | 40 | @26,6| 4 | Aluminium | 94,5gr
M 116 45x45 Three Corner Cube Connector | 45 | @26,6| 4 | Aluminium | 151 gr
6 8 10
taca | ) g A
o J N\ J
Code Prof External Product Name A D R Material Weight
M 115/2 30x30 Two Corner Cube Connector | 30 | @18 Aluminium | 44,26 gr
M 117/2 40x40 S8 Two Corner Cube Connector | 40 | @24 |8,5| Aluminium | 106,40 gr
M 117/SD 40x40 S10 Two Corner Cube Connector | 40 | @24 [12,5| Aluminium | 104,88 gr
M 116/2 45x45 Two Corner Cube Connector | 45 | @24 | 13 | Aluminium | 168,13 gr

29



loggedus Al
Profile
8 10
(N || N> |
4 ) )
- J J
Code | - | Product Name M B W D H|A Material Weight
M 47/A Slot 6 Jagged Nut M4 |57 114/ 41|1.2| 56| 8.8 Steel 1.2gr
M 47/S Slot 6 Jagged Nut M5 |57 |11.4/41|12|56 8.8 Steel 1gr
M 42/B Slot 8 Jagged Nut M4 | 79| 16 |63 | 2 | 7.7| 8.8 Steel 364gr
M 42/A Slot 8 Jagged Nut M5|79| 16 |63 | 2 |7.7| 8.8 Steel 33gr
M 42 Slot 8 Jagged Nut M6 |79 16 |6.3| 2 | 7.7| 8.8 Steel 3or
M 43/B Slot 10 Jagged Nut M4 | 10| 19 |87 | 3 |9.8| 8.8 Steel 7.59r
M 43/A Slot 10 Jagged Nut M5 |10 | 19 |87 | 3 | 9.8 8.8 Steel 7gr
M 43 Slot 10 Jagged Nut M6 | 10 | 19 | 87| 3 | 9.8| 8.8 Steel 6.5 gr
M 41 Slot 10 Jagged Nut M8 | 10 | 19 [ 8.7 | 3 | 9.8| 8.8 Steel 5.5gr
M 42/SS Slot 8 Jagged Nut Inox M6 | 7.9 | 16 | 6.3 | 2 | 7.7 | Stainless Steel 2.7 gr
M 43/SS Slot 10 Jagged Nut Inox M6 | 10 | 19 | 8.7 | 3 | 9.8 |Stainless Steel| 5.9gr
M 41/SS Slot 10 Jagged Nut Inox M8 | 10 | 19 | 8.7 | 3 | 9.8 |Stainless Steel 5gr
Profile
6 8 10
(W || N> |
4 )
a:ﬂl! r
- J
Code B4 Product Name D L M H| W) B Material Weight
M 40/B Slot 8 M6x20 Hammer Screw Nut - 185| 6 |68 [16,5| 7,7 8.8 Steel 7.59r
M 40/G Slot8 | M6x25 Hammer Screw Nut - |235| 6 |68 |16,5| 77 8.8 Steel 8gr
M 40/C Slot 10 | M8x25 Hammer Screw Nut - 17 8 |97 [195] 8,3 8.8 Steel 14 gr
M 40/A Slot 10 | M8x30 Hammer Screw Nut - 27 | 8 |97 [195] 8,3 8.8 Steel 16 gr
M 40/D Slot 10 | M8x40 Hammer ScrewNut | - | 37 | 8 |97 [19,5| 83| 8.8 Steel 18.5gr
M 40/F Slot 10 | M8x60 Hammer Screw Nut - 57 | 8 |97 /195| 83 8.8 Steel 25.5gr
M 40/E Slot 8 Round Head Bolt 713 - - - 9,8 8.8 Steel 3gr
M 40/1 Slot 10 Round Head Bolt @21 - 8 - - 12,7 8.8 Steel 9,5¢gr

30



6 8 10
2 £33
f N
~a)
- %
Code |- | Product Name M B L H Material Weight
M102T Slot 6 Small Nuts M4 | 6 | 10 | 5 8.8 Steel 2.5gr
M 102 R Slot 6 Small Nuts M5 | g | 10 | 5 | 8.8 Steel 2gr
M102 2 Slot 6 Small Nuts M6 | 6 | 10 | 5 8.8 Steel 2gr
M102P Slot 8 Small Nuts M4 | 78 | 16 | 6 | 8.8Steel 9gr
M102 L Slot 8 Small Nuts M5 | 78 | 16 | 6 | 8.8 Steel 8.5gr
M 102 F Slot 8 Small Nuts M6 | 7.8 | 16 | 6 | 8.8 Steel 8.5gr
M102 E Slot 8 Small Nuts M8 | 7.8 | 16 6 8.8 Steel 75gr
M 102D Slot 10 Small Nuts M4 | 10.1| 20 |10,5| 8.8Steel | 215gr
M 102 C Slot 10 Small Nuts M5 | 10.1| 20 | 10,5 | 8.8Steel | 20.5gr
M 102 B Slot 10 Small Nuts M6 | 10.1| 20 |10,5| 8.8Steel | 19.5gr
M102 A Slot 10 Small Nuts M8 | 10.1| 20 | 10,5 | 8.8Steel | 18.50r
@ MF 101 Slot 10 Small Nuts M10 | 10.6 | 19.5 | 10,5 | 8.8 Steel | 20.9gr

Fasteners / Modular T Slot Nuts A\luminium
Profile
6 8 10

> |
4 7\
- J
Code |- | Product Name M| B | W | L H | Material | Weight
M 105 Slot 6 Modular T SlotNut | M4 | 6.1 | 11| 16 | 55 | 8.8 Steel 4qr
M 105/A Slot 6 Modular T Slot Nut M5 | 61| 11| 16 | 55 | 8.8 Steel 4gr
M 105/B | Slot6 Modular T Slot Nut M6 | 6.1 | 11| 16 | 55 | 8.8 Steel 3gr

31



Fasteners // Long Nuts A\ uminium
Profile
6 8 10
[ Jif S || |
4 N
_ J
Code |- | Product Name M B w L D3 | D2 | D1 H Material Weight
M 107 A Slot 6 Long Nuts M5 6 10 | 100 | 20 30 10 5 8.8 Steel 29 gr
M 107 B | Slot8 Long Nuts M6 | 7,8 | 16 | 120 | 35 | 35 | 75 | 6 | 88Steel | 77.5gr
M 107 C | Slot 10 Long Nuts M8 10 20 140 | 30 40 15 | 10,5 | 8.8 Steel 150 gr
Fasteners // Spring Slot Nuts A\uminium
Profile
6 8 10
[ Jif |
4 I 4 I
- J - J
Code | | Product Name M A B c L Material Weight
M 45/K Slot 8 Spring Slot Nut M4 8 13 55 16 8.8 Steel 3.8gr
M 45/C Slot 8 Spring Slot Nut M5 8 13 55 16 8.8 Steel 4gr
M 45/B Slot 8 Spring Slot Nut M6 8 13 | 55 16 8.8 Steel 5.5gr
M 45/D Slot 8 Spring Slot Nut M8 8 13 55 16 8.8 Steel 4.5gr
M 45/H Slot 10 Spring Slot Nut M4 10 15 75 20 8.8 Steel 12 gr
M 45/F Slot 10 Spring Slot Nut M5 10 15 | 75 20 8.8 Steel 11.59r
M 45/A Slot 10 Spring Slot Nut M6 10 15 | 75 20 8.8 Steel 11.5gr
M 45 Slot 10 Spring Slot Nut M8 10 15 75 20 8.8 Steel 10.5gr

32



A\uminium
Profile
8 10 N - ~
[ | |
)
(8]
i
-— B —
N J N J
Code | | Product Name A | B | C|D d | Material | Weight
M 85/G Slot 8 Angled Puller Type Connection 12.5| 15 9 12 | 6.8 Steel 22.5¢gr
M 85/C Slot 10 Angled Puller Type Connection 26 | 17 |115| 15 | 85 Steel 53 gr
8 10 ~ - N
[ || |
f
<
|
-— B —a
o J N J
Code | | Product Name A | D d | Material | Weight
M 85/F Slot 8 Puller Type Connection With Joint 12.5/ 12 | 6.8 Steel 32.5gr
M 85/B Slot 10 Puller Type Connection With Joint 26 | 15 | 85 Steel 84 gr
10 4 N e N
b | ) -
] !
s B - | -
. | [
R » A :l |
& o
A .
- - —— _
—
o J N J
Code W | Product Name A | B|C|D d | Material | Weight
M 85/A Slot 8 Plain Puller Type Connection 29 | 21 |16 | 12 | 6.8 Steel 24.5 gr
M 85 Slot 10 Plain Puller Type Connection 455 31 | 20 | 15 | 85 Steel 54 gr
10 4 N e N
L4 T
)
]
- B -
—— A —
o J N J
Code [ | Product Name A | B | D | d | Material | Weight
M 85/D Slot 10 Head Puller Type Connection 68 | 48 | 15 | 8.8 Steel 80.5 gr

33



uminium
Profile
6 8 10
L2 L3 k4
/ R /
N J N
Code | | Product Name M | A B | C | L | H Material | Weight
M 106 Slot 6 Hidden Corner Connections M5 | 9 6 | 48 |135| 20 Alloys 6 gr
M 106 A Slot 8 Hidden Corner Connections M6 | 13 6.7 | 21| 30 Alloys 18.5gr
M106 B Slot 10 Hidden Corner Connections 17 | 10 | 84 | 27 | 40 Alloys 41 gr
Fasteners / Moving Joints A umInIUITl
rofile
LJ LJ
/ R N
. J _
Code Product Name A | B D H | Material Weight
M 36 30x30 Moving Joint 30 | 30 | @8.5 |22.5| Alloys 154 gr
M 37/A 40x40 Moving Joint 40 | 40 | ©8.5 | 30 | Alloys 372 gr
M 37 45x45 Moving Joint 45 | 45 | @10.5 | 30 | Alloys 342 gr
Fasteners / Square Nuts A\ |_||-n|n||_||'n
rofile
6 8 10
L4
4 N 4 N
\%@ 79'50
AEN MIMAINOYN ZE
OAA TA MPOODIA
' SLOT 10
\ J o J
Code | Product Name M E Material Weight
M 46/F Slot 10 Square Nut M4 5 Steel 13.5gr
M 46/H Slot 10 Square Nut M5 5 Steel 13 gr
M 46/E Slot 10 Square Nut M6 5 Steel 13 gr
M 46/1 Slot 10 Square Nut M8 5 Steel 12 gr
M 46/D Slot 10 Square Nut M10 5 Steel 10.5 gr

34




6 8 10 - N

(>

(>

6 8 10

t Plates

A\uminium

Profile

Ve

- J
Code el Product Name M A L B H Material Weight
External
M 81/C 30x60 | Levelling FeetPlate | M6 | 30 | 60 | 30 | 16 | Aluminium 45 gr
M 81/B 40x80 | Levelling Feet Plate | M10 | 40 | 80 | 40 | 15 | Aluminium 76 gr
M 81/A 45x90 | Levelling Feet Plate | M12 | 45 | 90 | 45 | 15 | Aluminium | 100 gr
M 81/F 60x60 | Levelling FeetPlate |M12 | 30 | 60 | 60 | 15 | Aluminium 119 gr
M 81/G 80x80 | Levelling FeetPlate |M12 | 40 | 80 | 80 | 15 | Aluminium | 217.5gr
M 81 90x90 | Levelling FeetPlate | M16 | 45 | 90 | 90 | 15 | Aluminium 195 gr
Auminium
Profile

&

&

4 N 4
(> | SR -—
i
w0
-
!
o J \§
Code Product Name
PE 33 MpooTaTeuTikd eAaOTIKO TTPOPIA 40x40 - 45x45 eviaia TTIQAveI
10 4 o N 4
(> | -
¥ 1
L]
o] i
= -
. T J .
Code Product Name
PE 54 Mpo@iA TTpooTaTEUTIKOU £AAOTIKOU 45x45 Tpelg TTAEUPES
s s
..#.F.?’-’f#" 1
.gf'f’;'" |
b o
M -
Il -
i b -
Al
Irrlg a*"#.. .
| [_\_ll___,.-'
\_=H Y, -
Code Product Name
SW 15 MpowiA TTpooTaTeuTikoU Aapapivag 1,00mm gwg 1,50mm
SW 25 Mpo@iA TTpooTaTeuTikoU Aapapivag 2,00mm ewg 2,50mm

35



Fasteners / 90° Connection Part A\uminium
Profile
6 8 10 -~ ~
L2 £33 K4 %
of Q F E
L% Q [E ] r ]
Q —
L]
4 L
B —
N ° Y, - J
Code iz Product Name A| c M Material Weight
External
M 034/A 20x20 90° Connection Part 93 | 45 M4 Steel 17.59r
M 032/A 25x25 90° Connection Part 123 | 45 | M5 Steel 30gr
M 034 30x30 90° Connection Part 14 45 M6 Steel 33.5gr
M 032 40x40 90° Connection Part 16.5| 615 | M8 Steel 52.3 gr
M 035/T 45x45 90° Connection Part 195 | 55 M8 Steel 71gr
Fasteners // 120° Connection Part A umlnlum
rofile
6 8 10 s ~

(W

(>

(>

I

(W

NG J NG J
Code i Product Name A Cc M Material Weight
External
M 35/G 20x20 120° Connection Part 93| 41 | M4 Steel 17 gr
M 35/E 25x25 120° Connection Part 12.3| 40 M5 Steel 27 gr
M 35 30x30 120° Connection Part 14 54 M6 Steel 43 gr
M 35/X 40x40 120° Connection Part 16.5 | 54 M8 Steel 49 gr
M 33 45x45 120° Connection Part 19.5| 61 M8 Steel 92 gr
Fasteners // 135° Connection Part A umlnlum
rofile
6 8 10 s ~
(b Jf| |
NG J NG J
Code Gy Product Name A| c | M | Material Weight
External 9
M 34/D 20x20 135° Connection Part 93 | 385 | M4 Steel 16 gr
M 32/B 25x25 135° Connection Part 123 | 395 | M5 Steel 27 gr
M 35/A 30x30 135° Connection Part 14 51 M6 Steel 41gr
M 33/X 40x40 135° Connection Part 16.5 | 52 M6 Steel 48 gr
M 33/A 45x45 135° Connection Part 195 | 63 M8 Steel 88 gr

36



6
(W

(>

(>

6
(W

(>

(>

Fasteners / 2 Way Connection Plates /A UITlInIUITl
rofile
4 I I N
-
J & I I J
Code Eth’;?;al Product Name A B @D K Material Weight
M 051 20x25 | 2 Way Connection Plate | 75 | 75 5 3 Steel 96.5 gr
M 72/A 30x30 | 2 Way Connection Plate | 80 | 80 | 6.5 3 Steel 119 gr
M 56/L 40x40 | 2 Way Connection Plate | 110 | 110 | 6.5 3 Steel 218 gr
M 56 45x45 | 2 Way Connection Plate | 120 | 120 | 85 | 3 Steel 256 gr
M 76 45x90 | 2 Way Connection Plate | 180 | 180 | 8.5 4 Steel 850 gr
M 76/L 80x80 | 2 Way Connection Plate | 200 | 200 | 6.5 4 Steel 990 gr
M 66 90x90 | 2 Way Connection Plate | 240 | 240 | 8.5 5 Steel 1.782 gr
Fasteners // 3 Way Connection Plates /\luminium
rofile
-
- - ¥ ==
— L ] B e
- - —
. =
Y \_ I [ ' J
Code Eth’;?flal Product Name A | B |@ | K Material Weight
M 051/A 20x25 | 3 Way ConnectionPlate | 75 | 86 | 5 3 Steel 109.5 gr
M 72/B 30x30 | 3 Way Connection Plate | 90 | 150 | 6.5 3 Steel 221.5gr
M 72/L 40x40 3 Way Connection Plate | 110 | 150 | 6.5 3 Steel 280 gr
M 56/A 45x45 | 3 Way Connection Plate | 120 | 160 | 85 | 3 Steel 322 gr
M 76/A 45x90 | 3 Way Connection Plate | 170 | 130 | 85 | 4 Steel 622 gr
M 66/L 80x80 | 3 Way Connection Plate | 160 | 220 | 6.5 | 4 Steel 900 gr
M 66/A 90x90 | 3 Way Connection Plate | 200 | 250 | 85 | 5 Steel 1.581 gr
Fasteners // 4 Way Connection Plates A umInIUITl
rofile
~

C=C-C-

.
) \_ l 'i l Y,

Code Eth’;?;al Product Name A B @D K Material Weight
M 051/B 20x25 4 Way Connection Plate | 130 | 130 5 3 Steel 248 gr
M 72/C 30x30 | 4 Way Connection Plate | 150 | 150 | 6.5 3 Steel 334 gr
M 56/B 45x45 4 Way Connection Plate | 180 | 180 | 8.5 4 Steel 689 gr
M 66/J 80x80 | 4 Way Connection Plate | 200 | 200 | 6.5 | 4 Steel 1180 gr

M 66/B 90x90 | 4 Way Connection Plate | 311 | 311 | 8.5 5 Steel 2.739 gr

37



6 8 10

(W |
/ ) f
10
- J _
Code Exteonal Product Name A | B | @D | K Material Weight
MF 120 80x40 | 2 Way Connection Plate | 119 [ 99.5| 8 4 Steel 331.6 gr

2 Way Connection Plate

Auto-T

/A\luminium
Profile

6 8 10
£
4 ) 4
2] K =
8
80 4
O |O)| =
<
. 1 1
.40 |
- J
Code Exteonal Product Name A B | @D K Material Weight
M 72/A 80x40 | 2 Way Connection Plate | 80 | 40 8 10 Steel 1M1 9r

/
0

/

0

2 Way Connection Plate

Auto

A\luminium
Profile

38




Plain Additional

Fastener - A\umini
ASLENEIS Connection Plate Hmirium
8 10
Ld
4 - ) 4 )
hff ﬂ )
- =8 |-
== 0 0 s”",h
e B A
| T, 0 [
4 o o T i Fo B
‘&F-"
k- I t.___..-'"'. £
N e J N J
Code Product Name A C oD L Material | Weight
M 148 40x80 Plain Additional Connection Plate| 72.5 4 6.5 150 HRP 330 gr
M 148/J 45x90 Plain Additional Connection Plate| 85 5 8.5 175 HRP 564 gr
Fasteners / Foot Fixing Bracket A\uminium
Profile
8 10 - ~ - ~
(> ||| > .
AHk
i L~
\ f‘
!
\ - J \ J
Code Product Name A B C D Material Weight
M 57 Foot Fixing Bracket 153 45 92 9 Steel 488.5 gr
A\uminium
Profile

- J - J
Code Sl Product Name A | B| D| H| K| Material | Weight
M 152 45x45 | Based Foot Connection Elements | 135| 89 | 13 | 80| 4 Steel 862 gr
M 153 45x90 | Based Foot Connection Elements | 180 | 89 | 13 | 80| 4 Steel 972 gr
M 154 40x40 Based Foot Connection Elements | 130 | 89 | 13 | 66 | 4 Steel 740 gr
M 155 40x80 | Based Foot Connection Elements | 170 | 89 | 13 | 66| 4 Steel 860 gr

39



6 8 10

/A\luminium
Profile

[ Jl] >
4 N 4
= ‘,‘ L.
e |
i :#-’ﬁ, e *—ﬁ‘: "i'."\i
v = T Al
e T &
i L= |_E = ;.- —
- y - g — 5 J
Code Product Name Material | Weight
M 39 Corner foot connection piece | Steel zinc | 301 gr
Cabin Equipment / Shelf Adjusting Plate A\ uminium
Profile
6 8 10
[ Jl] >
4 ) N
- J - J
Code | > | Product Name A B d 2D Material Weight
M 98 Slot 8 Shelf Adjusting Plate | 120 | 30 | 6.5 6.5 Steel 247.5gr
M 98/K Slot 10 Shelf Adjusting Plate 38 8.5 8.5 Steel 2425 gr

Cabin Equipment / Magnet Connection Set

/A\luminium
Profile

(W LJ LJ
(" Magnet Connection Set N 4 N
!
|
B
|
|
N J N J
Code | | Product Name A | B | L | @ad Material | Weight
M 069/D | Slot6 Magnet Connection Set 45|20 | 40 | 55 Sfﬁg;li%te 88.5gr
M69/B | Siot8 Magnet Connection Set | 45 | 35 | 55 | 6.5 Sf;;l;’tlfacte 104 gr
M 069 Slot 10 Magnet Connection Set 45| 47 | 67 | 6.5 stggfge 113 gr

40



Cabin Equipment // Hanger A\uminium
Profile
6 8 10

(W || N> |

- J
Code Product Name Material Weight
M 72/20 Hanger 20.25 Plastic+ Steel 18 gr
M73 Hanger 30.45 Plastic+ Steel 36 gr
Cabin Equipment W Sider A luminium
Profile
6 8 10
(W | |
4 ) 4 )

- -
Code | | Product Name A|C | H L M Material Weight
M 75/B Slot 8 Slide Rail 8 | 2 (187 53 | M4 Derlin 8.5gr
M 75/A Slot 10 Slide Rail 10 [ 2.5 [20.3| 60 M4 Derlin 13 ¢gr
Cabin Equipment / Accordion Pin A\uminium
Profile
6 8 10
[ | >
) 4 N
|
J - %
Code | | Product Name A|C | H L M Material Weight
M 75/D Slot 8 Accordion Slide Pin 8 |15 | 3 | 24 | M8 | Steel+Derlin 7gr
M 75/C | Slot10 Accordion Slide Pin 10 | 18 | 3 | 27 | M10 | Steel+Derlin 12.5 gr

41



Cabin Equipment / Handle
6 8 10

a2

(>

/A\luminium
Profile

~
HANDLE
.:1.'*
J
Code Product Name H L L1 B D Material Weight
M 67 Plastic Handle 40.5 |131.5| 915 25 | @84 Plastic 445 gr
M 68 Plastic Handle Thin 41 1315 104 25 @5 Plastic 25gr
M 69 Plastic Slide-in Handle 6.5 | 134 | 100 | 27 | @85 Plastic 110 gr
Cabin Equipment / Handles Aluminium /A uminium
Profile
6 8 10
[ i N || N |
4 4 )
OVAL
RS
- ] y - y
Code Product Name H L L1 B D Material Weight
M 67 AO Aluminium Tube Handle Oval 47 | 233 - 38 - | Aluminium & PVC 88 gr
M 68 AO Aluminium Tube Handle Oval 43 | 230 - 34 - | Aluminium & PVC 70 gr
M 69 AT Aluminium Tube Handle 56 | 232 - 30 - | Aluminium & PVC 81gr
M78 Aluminium Tube Handle 68 | 236 - 36 - |Auminum&PVC| 103 gr
Cabin Equipment // Ball Catch /A\luminium
Profile
6 8 10 4 ” I ) 4 )
L i
L2 E3 K3 T BRET
= “.""'-_/_-Li;%;’ﬁ .I“;-[..;\\\_;:'\-\.
S
Sy o -
o N o I
Ny g e
i L::il::%* s
NG A J NG J
Code Product Name Sl L L1 B D Material Weight
External
M 69/C Ball Catch 20-25-30 | 53 40 55 @5 Plastic 25 gr
M 69/F Ball Catch 35-40-45 | 74 | 57 | 77 | @55 Plastic 40gr

42



Cabin Equipment // Adjustable Handle A\luminium
Profile
6 8 10 4 N 4 N
S f
- J - J
Code Product Name M H h1 L Material Weight
M 73/A Adjustable Handle M6 | 72 30 78 Plastic 41 gr
M 73/B Adjustable Handle M8 | 92 50 78 Plastic 52 gr
M 73/C Adjustable Handle M10 | 102 | 60 78 Plastic 65 gr
Connection Accessories / Slot Seals A\uminium
Profile
6 8 10 s ~ - - N
£2 £33 I
A || |
I
- J - / %
Code | | Product Name Colour A B Material
M 79 Slot 6 Slot Seal [ ) 7.3 | 3.8 PVC
M 49 Slot 8 Slot Seal ) 89 | 43 PVC
M 59 Slot 10 Slot Seal o 11.7 | 8.1 PVC
KATOIIN
NAPAITENAs | Slot6 Slot Seal Colorful @0 7.3 | 3.8 PVC
KATOMIN
MAPAFTEAIAS Slot 8 Slot Seal Colorful 000 89 | 43 PVC
KATOIMIN
MAPAFTEAIAS Slot 10 Slot Seal Colorful 00 11.7| 81 PVC
Connection Accessories / Glass Seals A\luminium
Profile
6 8 10 4 N 4 N
b ] N | | R
‘<
- J - J
Code | | Product Name Colour A B Material
M70 Slot 6 Glass Seal o 7 7 PVC
M72 Slot 8 Glass Seal [ 85 (113 PVC
M 71 Slot 10 Glass Seal o 11 | 121 PVC

43



Connection Accessories // [MéuoAa /A\luminium
Profile

i )

IMopoia pupyopita pe APeEVIKO TAGO
Baxehitng ue avioym oe dwwkoteg, Aadw, ypaca kol ynuika PE. 7 Aofoi.

Kodwis Timog  [aoo
B1VIM3I0NG20 30mm MOX20mm
BIVIM300630 30mm M6X30mm
BIVIM300815 30mm MaX15mm
BIVIM300825 30mm MSX25mm
BIVIM400630 40mm MOX3Dmm
BIV7Ma400640 40mm M6X40mm
BIVIM400820 40mm MEX20mm
BIVIMA00830 40mm MEX3IOmm
BIVIM400840 40mm MEX40mm
BIVTM400850 40mm MEX50mm

BIVIMA401030 40mm M 10X 30mm

Kwdiwic  Timog  [laoo
BIVTMA401040 40mm MK 40mm
BIVIMS00820 30mm MEX 20mm
BIVTMSOE30 30mm MEX30mm
BIVIMS00840 50mm MSX40mm
BIVTIMS01240 50mm MI12X40mm
BINVTMS01040 50mm MI0X40mm
BIVIMoOOE40 60mm MEX40mm
BIVTMAO1030 60mm MIDXK30mm
BIVIMaO 1050 60mm MI0X 30mm
BIVIMWO01 240 60mm MI2X40mm
BIVIMAO1 250 60mm MI12X30mm

F1O0"C
-M°C

Italiag

#

Kodiwic  Tomog  [lioo
BIVTMX 300430 30mm M4X30mm
BIVTMX300620 30mm M6X20mm
BIVIMX400630 40mm M6X30mm
BIVTMX401030 40mm M10X30mm

BIVTMX 501040 50mm MI0X40mm

[Mopoia papyopita pe apo. oo INOX AISI 304
Buxehimg ue avroyn oe dwaiiteg, Madw, ypaca kal ynpka PE. 7 Aofot.

} |||n=l::l
-

UPGEVIKO TAGO
AvBekTiKd o Sl M, KODGIU Ko
dlaanTes. 6 Lofol

Kbk Tomoes  Iigo
O1PF2ZB20 PF2 M5X20 20mm M53X2(0mm
O1PF2B30 PF2 M3X30 20mm M3X30mm
O1PF3P25 PF3 MEX25 30mm MB8X25mm
O1PF4C25 PF4 M6X25 40mm M6X25mm
O1PF4C40 PF4 MoX40 40mm M6X40mm
DIPF4D20 PF4 MEX20 40mm MEX20mm
O1PF4D40 PF4 MEX40 40mm MEX40mm
01PF6F45 PF6 M12X45 45mm M12X453mm
OTPFS020 PF4 MEX20 50mm MEX20mm
O1PF5D35 PF5 MBX35 50mm MEX35mm
OIPFGES) PF6 MI0X50 50mm M I0X40mm
OIPF6D25 PFA MEX2S 60mm MEX25mm
D1PFoD40 PF6 MEXAD olmm MEX40mm
O1PFGE30 PF6 MIOX30 60mm MI0X30mm
OIPFGETO PF6 MI0XT0 60mm M IOX70mm

IMopora papyapita and PF Duroplast pe

apoEVIKO TG0  INOX
AvBektikG o€ Elaia, AT, KOG Kot
dlohitec. 6 ropoi.

Kwdig Timog oo
D1PF2B20X PF2 MSX20 20mm M3X20mm
(01PF2B30X PF2 M3X30 20mm M3X30mm
(MPF2B40X PF2 M53X40 20mm M53X40mm
(1PF2C20X PF2 MaX20 20mm M6X20mm
O1PF2C30X PF2 M6X30 20mm M6X(30mm
O1PF2C40X PF2 M6X40 20mm M6eX40mm
D1PF3DI5X PF3 MBX15 30mm MEX15mm
O1PF3D25X PF3 MBX25 30mm MEX25mm
O1PF4C25X PF4 M6X25 40mm M6X25mm

Itu?iinl;J

lMopoia popyapite ano PF Duroplast pe

ItaAiag |

ItaliuqJ

44



Cabin Equipments / Hinges A\uminium
Profile
6 & 10 - N ~N
£2 34
L 2N J
Prof . .
Code External Product Name E H1 H2 L1 L2 L3 L4 D1 Material | Weight
M 65/K 20x20 | Hinge (Thin Series) | 5 | 10.25 |10.25|18.35(18.35| 35 | 19 6 | PA6Black | 8.5gr
M 65/G 25x25 | Hinge (Thin Series) | 5 | 12.75 |12.75|23.35| 23.35| 35 | 19 6 | Pa6Black | 11gr
M 65/H 20x25 Hinge (Thin Series) 5 | 10.25 [ 15.25| 18.35| 23.35| 35 19 6 Pa6 Black 10 gr
M 65/A 30x30 Hinge 8 15 15 | 25 | 25 | 50 | 30 | 6.5 | Pa6Black | 29.5gr
M 65/B 35x35 Hinge 8 | 175 |175| 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 34gr
M 65/D 45x30 Hinge 8 | 2275| 15 | 32 | 25 | 50 | 30 | 6.5 | Pa6Black | 31gr
M 65/J 35x45 Hinge 8 |2275|175| 32 | 32 | 50 | 30 | 6.5 | PaéBlack | 33gr
M 65/C 45x45 Hinge 8 | 2275|2275 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 34gr
8 10 ~
[ i >
<& < o5
. :l. )
J \
Code el Product Name Material Weight
External 9
ML 30 30x30 30x30 Leaf Hinge | Aluminium | 8.5gr
ML 40 40x40 40x40 Leaf Hinge | Aluminium | 11gr
ML 45 45x45 45x45 Leaf Hinge | Aluminium | 9.5gr
minium
rofile

Cabin Equipments // Locked & Covered Hinges /A\lpu
6 8 10

4 N 7 N
[ i S |l |
s
D1— =
\ s J Y,
Code el Product Name H | L1 |L2]| L3 | L4 | D1 Material | Weight
External g
M 92/A 25x25 Hinges With Lock 72 | 48 | 28 | 52 30 | 66 Pa6 Black | 46 gr
M 92/B 30x30 Hinges With Lock 72 | 48 | 28 | 59 35 | 6,9 | Pa6Black | 48gr
M 92/C 45x45 Hinges With Lock 72 | 48 | 28 | 87 50 | 6,6 Pa6 Black | 60,5 gr
M 92/D 45x45 Hinge Cover 622 | 56 | 36 | 73 | 455 | 6,6 Pa6 Black | 41gr

45




Cabin Equipments / Plexiglass A\uminium
Profile
e N = :

B C
<
N\ J
Code Product Name A B C Material Weight
MIMOPOYN NA KOIMNOYN
PX 30 Plexiglass 3 mm 2050| 3050 | 3 Plexiglass | 3,57 kg/m” ITIZ ENIOYMHTEZ
PX 40 Plexiglass 4 mm 2050| 3050 | 4 | Plexiglass | 4,76 kg/m’ AIAZTAZEIZ
PX 50 Plexiglass 5 mm 2050| 3050 | 5 Plexiglass 5,95 kg/m’ AIATIOONTAI ZE
PX 60 Plexiglass 6 mm 2050 | 3050 6 Plexiglass 7,14 kg/m? AIAOOPA XPQMATA
PX 80 Plexiglass 8 mm 2050 | 3050 | 8 Plexiglass 9,52 kg/m® TIMH KATOMIN
, ) 2 2YNNENOHZHZ
PX 100 Plexiglass 10 mm 2050| 3050 | 10 | Plexiglass | 11,90 kg/m
Cabin Equipments / MoAukapBovikd A\ umw{yu,n
ro I e
4 M
B C
N\ J
Code Product Name A B Cc Material Weight
MIMOPOYN NA KOIMNOYN
PC 40 MoAukapBovikd 4 mm 2100 | 6000 | 4 | MolukapBovikd | 0,80 kg/m® 2TIZ ENIOYMHTEZ
PC 60 MoAukapBoviké 6 mm 2100 | 6000 | 6 | MohukapBoviks | 1,30 kg/m’ AIAZTAZEIZ
PC 80 MoAukapBovikd 8 mm 2100 | 6000 | 8 | MohukapBoviko | 1,50 kg/m® AIATIOONTAI ZE
PC 100 MoAukapBoviké 10 mm 2100 | 6000 | 10 | MoAukapBovikd | 1,70 kg/m® AIAOOPA XPQMATA
PC 160 MoAukapPovikd 16 mm 2100 | 6000 | 16 | MohukapBovikd | 2,55 kg/m? TIMH KATOMIN
ZYNNENOHZHZ
PC 200 MoAukapBoviké 20 mm 2100 | 6000 | 20 | MohukapBoviko | 3,10 kg/m’
: . 2upTTayn
Cabin Equipments / p A\ um|n|u|'n
— HOAUKGPBOVIKG rofile
e
Code Product Name A B Cc Material Weight
PCB 30 Zup. MoAukapBovikd 3 mm | 2050 | 3950 | 3 | MoaukapBoviko | 3,60 kg/m? | |
PCB 40 ZupTr. MNMoAukapBovikdé 4 mm | 2050 8?88 4 | MohukapBoviko | 4,80 kg/m?
N\
PCB 50 Zupr. MoAukapBovikd 5 mm | 2050 | 3950 | 5 | NohukapBoviks | 6,00 kg/ms
. 3050 ; 2
PCB 60 ZupTr. MoAukapBovikd 6 mm | 2050 | 3150 | 6 | MoAukapBoviko | 7,20 kg/m MnSrTSE”IQéMKI-?TrIIEC}):YN
PCB 80 Zup. MoAukapPovikd 8 mm | 2050 | 6100 | 8 | MoAukapBovikd | 9,60 kg/m? AIAZTAZEIZ
. 5 Mo\ 5 |12 Kk 2 AIATIOONTAI ZE
PCB 100 >upTr. MoAukapPovikd 10 mm | 2050 | 6100 | 10 | MolukapBovikd | 12,00 kg/m AIAGOPA XPOMATA

TIMH KATOIIN
ZYNNENOHZHZ

46



Cabin Equipments / Cable Holders A\uminium
Profile
6 8 10
N [l > |
4 N\ 4 N
i
g
J
e |
B
\ WITHOUT CAP WITH CAP ) L )
Code Product Name A B C D E Material | Weight
M 82 Cable Holder Without Cap 22 |10 |22.3| - - Plastic 4.24 gr
M 82/8 Cable Holder Without Cap 22 | 8 [17.2| - - Plastic 3.55gr
M 83 Cable Holder With Cap 34 |16 | 20 | 30 10 Plastic 5.74 gr
M 83/8 Cable Holder With Cap 15 | 20 | 24 10 Plastic 4.86 gr
Cabin Equipments / Plastic Plexi Holder A\luminium
Profile
LJ LJ
4 o ) I
. %_" e
| a7 |
I F; 4
° A
_ WITH UNIBLOCK WITH NUT ) )
Code Product Name A B C D Material Weight
M 109 Plexi Holder With Nut 25 18 | 25 | 55 Plastic 5.74 gr
M 109/S8 Plexi Holder With Nut 235| 18 | 25 | 55 Plastic 4.86 gr
M 109/A Plexi Holder With Uniblock 20,8 29 | 222| - Plastic 7,46 gr
Cabin Equipments / Plexi Holder Metal A\uminium
Profile
2 u LJ
4 ) 4 I
- J - %
Code Product Name A B Cc D R Material Weight
M 120 Plexi Holder Metal Single 20 |32,5| 25 |@4,2| 12,5 | Aluminium 25 gr
M 120/A Metal Plexi Holder Dual 20 8 65 | 65 - Aluminium 82 gr

47



Security Fence

Connection Elements / Connection Systems /A FI"IFLIQ".'IF!
Slot Sliding Wheel
I 4 N
P TR
Ic
1
J o J
Code [ | Product Name A|B|C |D|E Material |Weight
. Black
M 88/B Slot 8 Slot Sliding Wheel 335| 47 |19.3|58 | 7.8 |pg ethyiene 47 gr
. Black
M 88/A Slot 10 Slot Sliding Wheel 68.5| 48 | 29 [ 9.5 |95 Polyethylene 90 gr
M 88/X Slot10 |  Sliding Wheel set 40x40 | 40 | 40 | 40 Aluminium | 116 gr
M 88/Y Slot 10 |  Sliding Wheel set 45x45 | 45 | 45 | 45 Aluminium | 170 gr
M 88/J Slot 10 Sliding Wheel set 30x30 30 | 30 | 30 Aluminium | 80 gr
Safety Lock
I 4 N
-
% o J
Code Product Name A|B|C|D Material Weight
M 92 Safety Lock 80 | 40 | 35| 31| Aluminium | 243 gr
Safety Fence Connector
N 7 N [
B s
i'.
=3 | e
2N NG
Code Product Name A|(B|C | D|dl|M Material |Weight
M 77 Safety fence ConnectionPart | 5 | 12 | 6 | 24 | 5 | M5 | Aluminium |13.5gr
Parallel Profile Connection Kit
:, N N [
7 - |
. D \
- .I -
i Cc
e |, —
[ I}E -
AN NG
Code Product Name A | B| C|@D| E F | H | Material |Weight
M 135 Parallel Profile Connection Kit 30 |30 | 27 |85|15 | 85|57 Steel |38.5gr

48




N N [~
i =)
RN . VRN
N = N [
B| =1
] | . ;
’ L
C
- RN VRN
Code Product Name A B C Color Material Weight
M 58/P 20x20 Profile Cover 20 20 2 (] Plastic 19r
M 58/B 20x40 Profile Cover 20 40 3 [ ] Plastic 2gr
M 58/F 20x80 Profile Cover 20 80 3 o Plastic 4gr
M 58/R 25x25 Profile Cover 25 25 3 (] Plastic 1.59r
M 58/A 30x30 Profile Cover 30 30 3 (] Plastic 3.5gr
M 58/H 35x35 Profile Cover 35 35 3.3 [ Plastic 4.5gr
M 58/HV 35x35 Profile Cover (S10) 35 35 3.3 ) Plastic 4gr
M 170 30x60 Profile Cover 30 | 60 3 [ Plastic 7g9r
M 171 30x90 Profile Cover 30 90 3.3 () Plastic 7.59r
M PK 40 40x40 Profile Cover (S10) 40 40 3.3 [ ) Plastic 5.5¢r
M 172 40x40 Profile Cover (S8) 40 | 40 | 3.3 ® Plastic 5.5gr
M173 40x80 Profile Cover (S8) 40 80 3.3 [ ] Plastic 8.88 gr
M PK 48 40x80 Profile Cover (S10) 40 80 3.3 (] Plastic 9.5¢gr
M 58/C 45x45 Profile Cover 45 45 3.6 () Plastic 8gr
M 58/J 45x60 Profile Cover 45 60 3.6 ) Plastic 9.5gr
M 58/D 45x90 Profile Cover 45 90 3.6 ) Plastic 15.5 gr
M 174 45x135 Profile Cover 45 | 135 | 3.6 [ Plastic 19 gr
M 175 50x50 Profile Cover 50 | 50 3.6 o Plastic 8gr
M 176 50x100 Profile Cover 50 | 100 | 3.6 [ ) Plastic 17 gr
M 58/G 60x60 Profile Cover 60 60 3.6 ) Plastic 11.5gr
MA177 60x60 Profile Cover (S8) 60 60 3.6 (] Plastic 12.5¢gr
M177/G 60x90 Profile Cover 90 60 3.6 [ ] Plastic 18.33 gr
M PK 80/8 80x80 Profile Cover (S8) 80 80 3.6 [ ] Plastic 21.6gr
M PK 80 80x80 Profile Cover 80 80 3.6 () Plastic 19.5gr
M 58/E 90x90 Profile Cover 90 90 3.6 (] Plastic 31gr
M178 20x20 Radius Profile Cover 20 20 3 [ ] Plastic 1gr
M 58/L 30x30 Radius Profile Cover 30 30 [ ] Plastic 25¢r
M 58/M 45x45 Radius Profile Cover 45 45 [ ] Plastic 7gr
M179 23x127 Profile Cover 23 | 126.8| 4.2 ) Plastic 18.5¢r
M 179/X Hexagon Stand Profile 60 52 3 ) Plastic 5.67 gr

49




Connection Accessories / Plastic Levelling Feet
s N

-

iid

A\luminium
Profile
I

\_ . J J
Code Product N D M | H | h | Material | Weight |-
roauct Name [¢] capacity
M 62/D M6 Plastic Levelling Foot @41 | M6 | 80 | 50 | Plastic 41gr 39kg
M 62 M8 Plastic Levelling Foot g41| M8 | 80 | 50 Plastic 47 gr 49.5 kg
M 61 M10 Plastic Levelling Foot | @60 | M10 | 100 | 60 | Plastic 116 gr 114 kg
M 61/C M12 Plastic Levelling Foot @60 | M12 | 100 | 60 Plastic 136 gr 152kg
M 61/B M16 Plastic Levelling Foot @110 160 | 110 | Plastic 314 gr | 325.5kg
Connection Accessories / Metal Levelling Feet A umlnlum
rofile
I
i & | |
l |
34":-"'H | 1
- L . J
Cod Product N D | M| H | h | Materal |Weight|.-°29
ode roduct Name ateria eig Capacity
@ MF 62/A M6 Metal Foot Simple @40 | M6 | 74 | 45 Steel 150gr | 130 kg
@ MF 62/B M8 Metal Foot Simple @40 | M8 | 93 |60.5 Steel 250gr | 180 kg
M 62/C M;?a.ofgegrﬁng%aggﬁ @60 | M10| 85 | 50 | Chrome-steel | 188gr | 190 kg
M12 Chrome Coated
M 62/B Metal Leveliing Feet @80 | M12 | 150 | 100 | Chrome-steel | 479 gr | 489 kg
M16 Chrome Coated
M 62/A Metal Levelling Feet @120 | M16 | 150 | 100 | Chrome-steel | 1.081 gr| 1.150 kg
Connection Accessories // P6deg A\luminium
Profile
4 I 4 I
|
|
o % o J
Load . .
Code Product Name E |@D | @d | H Capacity Material | Weight
M 99/A Poda tpeAy @ 50 24 | 50 | 10 | 70 50 kg Polyamid | 204 gr
M 99/B | Poda tpeAry ® 50 pe gpévo | 24 | 50 | 10 | 70 50 kg Polyamid | 277 gr
M 99/C Poda TpeA @ 75 24 | 75 | 10 [100 70 kg Polyamid | 298 gr
M 99/D P6da Tpehy © 75 pe ppévo | 24 | 75 | 10 | 100 70 kg Polyamid | 538 gr
M 99/E P&da tpeAy @ 100 24 1100 | 12 |130 80 kg Polyamid 719 gr
M 99/F P&da 1peAry @ 100 pe ppévo| 24 | 100 | 12 | 130 80 kg Polyamid | 820 gr

KATOTMMIN ZHTHZHZ YINMAPXOYN KAI ZE AAAEZ AIAMETPOYZ
50



. . Feet Wheel
Connection Accessories // Connection Piece
e ™ e

B d ! _‘_,‘.| i
T | = o wy |
| A= { e
=} -
S | X el
- = o -
- J - J
Code Product Name A B c L oD | @d Material | Weight
MF 4080 |40x80 (40x40) Con. piece M12| 50 | 40 | 40 [189.64/10.50| 8.50 Steel Zinc | 729 gr
45x90 (45x45) Con. piece 55 | 45 | 50 [198.00/10.50| 8.50 Steel Zinc 885 gr

MF 4590
Connection Accessories // Cupholders /A\kumir;iu,ﬂ
| - @ ~

( W 5.3 (0]

NV Lo )
Opr
= E -
- J - %
Code Product Name A B C L oD | @d Material Weight
MF 79 Cupholder 106 | 25,5 23 | 112 | 100 | 55 PP 145.6 gr

Connection Accessories // Grab Containers A F[)Jmir;iu,Tl
ro 1 e
A r

(
51

51
5.4 @54 [
S —

E]

51

103
\_ _-103

- - %
Code Product Name A B Cc L N ad Material Weight
MF 110 Grab Container 110x105x40 S10 | 110 | 105 | 51 | 103 | 40 | 5.40 PP 95.2 gr
Grab Container 210x105x40 S10 | 210 | 105 | 51 | 103 | 40 | 5.40 PP 190.8 gr

MF 210
. . Metal Magnetic .
Connection Accessories // Sensor Holder A Fl,_lerlnlr*!Ill.IP!
N ™

-
B
o
= il 2
- © J %
Code Product Name A B Cc L N ad Material Weight
MF 56 Metal Magnetic Sensor Holder S8 | 12.2 | 48.4 | 12.2 | 56 2.5 8 Polyamide | 11.2gr

51



(>

(>

Cabin Equipment // In slot A\uminium
Profile
8 10
4 N / N
o % - J
Code |- | Product Name Color A Material Weight
Us Slot 8 In Slot U 8 seal ) 8,2 PVC 446 gr
u10 Slot 10 In Slot U 10 seal [ ) 14,0010,20(  PVC 50,6 gr
e 4
o

Cabin Equipment // Absorbers A um|n|um
rofile
4 ) 4 )
E?_\H et
R
\H"‘a ‘xmx
it = P
H-:ﬂ?‘]"—';:._
L)
J o
Code Product Name A | B Min.HMax Material Weight
M 84 Absorbers (Strok 150mm) F300N | 150 | 195 | 233 - 383 Steel 205 gr
M 84/B Absorbers (Strok 105mm) F150N | 105 | 145 | 188 - 293 Steel 159 gr
M 84/C Absorbers (Strok 85mm) F85N 130 | 168 - 253 Steel 148 gr
Cabin Equipment // Absorber Connection Part /A\luminium
Profile
N\

-y "'\-\.. o
J'\:I ‘[T::'h ol ]
e f b o
- P -
J NG
Code Product Name Material Weight
M 84/D - M84/F Absorber Connection Part Steel zinc 48 gr

52



Arm System Elements // Friction Joints A\uminium
Profile

- J N J
Code Product Name Friction Torque M L B Material Weight
(min deep 15 mm)
40x40 Friction Joint Set
FB 40L/3 for Arm Systom 3 Nem 8 40 | 40 Steel 775 gr
4 N\
- J

Code Product Name Friction Torque , 1 B Material Weight
(min deep 15 mm)
FB 45LIG 45x45 Friction Joint Set 6 Nem 45 Steel 825.4 ar

for Arm System

/7~ W N
Y] @
f R
h]_..!_ 1
4
\ Sw Y,

Code Product Name Friction Torque . 15 B Material Weight
FB 90H/D9 | 45x90 D Friction Joint 2x9 Nem Steel  [1669.4 gr

Set for Arm System

s o e ) @
S 1§ =
2{5_4
il
o
. Sw J

Code Product Name Friction Torque » 15 Material Weight
FB 90L/6 45x90 Friction Joint Set 6 Nem 45 Steel 1159.2 gr

for Arm System

ugfﬁ

'I

Arm System Elements // Monitor Mounting Plate /\lumlnlum
Profile

3

- J -
Code Product Name A | B | C |@9D | Material Weight
; PA Plastic
MMF 75/100| Monitor Plate 75/100| 100 | 75 | 40 | 8.8 | [y 2 | 123 gr

53



Cabin Equipment / AANevOPIdES Inox A Ig_lmir{!il._lp'l

Alevoprdec oe petpikd DIN912 Nox Az

3-6

10
12
16

g n

£z2222h5&0n

100
1140
120
130
140
150

Mayoc— 3 4 5 6 8 10 12
[ Mijxog]

Fra 100 tepudone

14

16 @

Abevofideg ppelarec DINTI91 (iNoX Az

o

Migoc— 4 ] 6 8 10 12
{Mijrcog)

o 10U tepdyo

54

Adevofhoes mopme DINT3I80

®

Niyoc— 4 5 6 8 n
Mijkog|

-
=

E2EH2REER

oo 100 tepdn

LN

Ol TIMEZ MIMOPOYN NA AAAAZOQOYN XQPIZ NPOEIAOMNOIHZH




Cabin Equipment //

Magipddia - PodéAeg

& NrTigeg Inox Auminium

Profile

-

Pobéleg DIN125 (INOX A2

Tomog Ty Tomog Twn

3X7 18X34
4X9 20X37
5X10 22X39
6X13 24X44
8X17 27X50
10X21 30X56
12X24 33X60
14X28 36X66
16X30 *1a 100 tepayia

PodéAeg oapdrég DIN9021 (INOX A2

Tomog Ty Tomog Ty

3X9 16X50
4X12 18X56
5X15 20X60
6X18 22X66
8X25 24X72
10X30 27X81
12X40 *1o 100 tepdyia
14X45

\
N

N
-

Ntileg DIN976 1 pétpov [INOX A2

Méxog Twn ITdxog Ty

3 16
4 18
5 20
6 22
8 24
10 27
12 30
14 33

T'kpoPep DIN127B (INOX A2

Om) Tym Om  Twyn

3 16
4 18
5 20
6 22
8 24
10 27
12 30
14 *1o 100 tepdyia

Avoéeidota nepikoyAia DIN934 (INOX A2

Méxos Ty Iléxog T

ITepikoyAia ac@aieiag DIN985 INOX A2

2 16
2,5 18
3 20 IIayog Ty ITayog Twun
4 22 3 14
5 24 4 16
6 27 5 18
8 30 6 20
10 33 8 22
12 36 10 24
14 *1ta 100 tepayla ) 12 *1ta 100 tepayla
ITepikoyAia tveAa DIN1587 INOX A2 1( ITepikoyAa ietarovdeg DIN315AF (INOX A2
MMaco Tym
3
4
5
IMdoo Twn ITadco Twyn 6
3 12 8
4 14 10
5 16 12
6 18 14
8 20 16
10 *1a 100 tepayla *1a 100 tepayia

J \

OI TIMEZ MNOPOYN NA AAAAZOYN XQPIZ MPOEIAOMOIHZH

55




ANOZEIAQTA //

MnxavopIdeg A\ uminium
Profile

Mnyavofdec gpelitec DIN963 INOX A2

N .

iagoc— 3 4 5 6 8 10

[ Mijkog)
37

10
12

EE2sL2HEneERER

1040
120
oo 100 tepdya

Mnxﬂvﬂﬂlﬁag Tpumsloeideic - ppelaTeg DIN7985 -
DIN965 mNox a2

//

e

=5 3 : 6 8
| Mijkog]|
4
(1]
7
8
10
12
16

222255258

1040
o 100 Tepdyno

Munyavoproeg mhatvkipaieg WS9330

INOX A2
= f @
{ Tovykofhdec) /

Migoc> 3 4 5 6 8

| Mhijwoc)
10

16

22shehne

*ra 100 tepdypie

Mnyavofhozeg tpaneloaideic DINS4

o ; &

Migoc— 3 4
1 Mijrog)

10
12
16
20
25

EE

*1a 10 tepdna

Ol TIMEZ MIMOPOYN NA AAAAZOYN XQPIZ MPOEIAOMNOIHZH




ANOZEIAQTA // Mnxavepides-KaooveBides /A |uminium
Profile

Mungavopiozc paxng DIN966 inoxaz

. o

Migoc— 3 4 5 6 Mioe— 3 4 5 6

| Mijwog] | M)
6 P
8 30
10 35
12 40
16 50
20 ]
*1o 10D Tepayo )
[ quuwi[h&sg mopni WS9460 1( quumﬁlﬁag qrpagamg 1{ Muyovéfroeg meralobdn ]
INOX A2 @ WS9470 1NOX A2 DIN316AF 1Nox A2
Miyoc— 4
| Mijkoc]
8 Miyos— 4 5 3 Méiyoc— 4 8 6 8
10 [Mijkoc} | Mhijiog)
12 10 16
16 12 20
15 16 25
30 0 30
35 25 40
40 3n 50
*roe 100 tepdyne AN o 100 Tepdayo J1 *ra 100 vepdne )

Kasovipidec DINGO3 1NOX A2 E

Hegere | & | 3 |10 g B o lad | @

| Mijkoc) {Mijrog|
20 90
25 100
30 110
35 120
40 130
45 140
50 150
ol 160
70 180
80 *ro L0 tepdna

Ol TIMEZ MIMOPOYN NA AAAAZOYN XQPIZ MPOEIAOMNOIHZH



ANO=EIAQTA //

MevTeoEDEC A\luminium
Profile

Mevreotdes cohivoy M8136 INoXAs

@

N/

-

N5

il - '

Mezvtessdss pe duwhd wipo MO8 Nox A4

e

o B —

© ©

plig

© ©

=

L) e O . LA 5 e
70mm 20mm 25mm S0mm30mm |, Smm \@j |
Mevreoidec yutoi M8233 INOX A4 ] Mevreoide yutoi M8234 [INOX A4 ‘
oH ot | ..
] GA ©
® ] @ l L ! @ ® :
L B G E H " L B H
38mm 38mm 25mm 25mm 4mm @__"_T 57mm 38mm4, 5mm l_ © ©
S0mm 50mm 32mm 35mm 4mm i '_E _'__ Tomm 38mm 4, Smm R | =
Mevreaédec yutoi orpéyyvior M8428 inoxas | | Mevreoides M8429 INOX A4 1
Tia ]
® © 1 |
| H
L B H L B H © @ '
Hdmm tdmm dmm |E| £lmm 6dmm 4mm Ezt._j:rg.
[ Mevteoédsg pe mipo MB238 INOX A4 11 Mevreotdes pokpootevor M8235 INoxad |
| (@
©)
©
L]
! ©)
6
: ®
- || LB H |
L. B H . t@/ 103mm 27mm 4,5mm 1. @
71mm 28mm 6mm dE =t «| | 152mm 30mm 4, 5mm -4 B -




ANOZEIAQTA //

MevTeaédeg /A\luminium
P

rofile

.

Mevrecides pe yovato M8237 NoX A4

-,

L B H H1 .
Sd4mm 3Tmm 4, 5mm [ 4mm
TUmm 3Tmm 4. 5mm |4mm

-

) Mevteagdeg yutol duxpodipevor M8239 INOX A4
*n poroypupic deiyvel dedio

Thmog L BE H
Amorepoc 92mm 36mm Smm
Aegfidc 92mm 36mm Smm

Mevreoides yotoi M8280 INOX A4

Temoc L B H
A Tomm 38mm4, Smm L Bl B2 H
B 102Zmm 38mm4,5mm | 195mm 98mm 20mm Smm - -

Mevrecedes ofal MB045 INOX A4

e

L B H @ © |
47mm 30mm 1. 5mm LLLpt
T5mm 4mm 1, 5mm ©® ©
S0mm 40mm 2, 5mm @/ 1

Mevresgdec poaxkpootevor MB046 INOX A4

e

L

B
Timm 20mm 1,.5mm
85mm 3mm [ 5mm
100mm 40mm 1, 5mm

H

Mevregedec puxpootevor M8047 INOX A4

e

@l@]
L B H @
B0mm 20mm |, 5mm 1]
90mm 30mm | Smm (@]
100mm 40mm | Smm @8

= =

El

L B

H

130mm 40mm | Smm

59



ANOZEIAQTA //

MevTeo€deg

L

Timm 40mm 1,5mm

Mevreosdec M8044 INOX A4

B H

e

= B’

L

B
1 85mm 40mm |, 5mm

\

i

i i

L™

Q0mm 60mm 3Jmm 6, 1 mm

B H D

95mm 3I8mm 60mm 2mm 5 6mm

Mevreoéoes MBI52 iNnox a4

L B Bl B2 D

14

No A BCR ©
6 60 13527 2
8 RO 1537 2
10 100184622145
12 120215522145

Mevreaédec ART1228 (INOX A4

12
12

e

Mevreoédes ART1229 (INOX A4

i
i
' c1
Y
Hl-
No A BCCIR i
Yy v

14 1402132 65 2 B
- >

7, ALBERH)
]

P

Timog
25X0,7
30X0,7
38X0,7
38X1,2
S0X0,7
50X1,2
50X2,0
60X1,2
60X2,0
70X2,0
70X3,0

Mevreoédec dipeTpor INOX AL
Ty

60



ANOZEIAQTA // Mevieoroe
P

~

Mevreoides M8049 INOX A2 E I

B L HD T

~ .

Mevteoédeg M8150 INOX A2

A0 40 1539
B 40 40 1,545 B LHD Ty
C 40 60 1,545 " A 25 3004845
D50 60 1,555 <= | | B285300.845 E ] -
E 60 o) 1,545 C 35 400845 ) ®
F 50 80 1,545 D 40 400845
G 60 80 1,545 o | E 40 500,845 BEE L fe
H 70 80 1,545 F 50 500845 [
[ 80 80 1,545 G 50 600845 e ol
PlOO 1001 54,5 H 55 7008435 _—H_—g o
Mevreofdeg mhaké AKSSSN20 Nox a4 Mzsvreoédag pe povkepav AKSSSB20 mNox a4
Mhjkog Hagrog Mayos Tynj
3" 3 2mm
Mijkog IMhitoc Miazog 3T 3EY 2mm
3" i b 2mm 4" 3" 2mm
3" 3a" 2Zmm 4" 347 2Zmm
4" 3" 2mm 4" 4" 2mm
4" 34" 2mm 415" 4" Jmm
4" 4" 2mm 44" 4%" dmm
e o >
[ Mevteoédeg popfov ARTSS4 INOX A4 Mevreoideg popPov xkoptoi ART852 INOX A4
@ A / @ A
OHO O al0
M (o) - Q y 5 O
ollo o Yo
Y v
B
- g - = .
A B ST A B S
40mm Tlmm = 40mm 55mm B
L9 . L

| Mevreaédeg drapovpsvor apioTepoi INOX 18/8

Kodikic A B
7324 60mm 4hmm

o I o

Mevteoideg O1upovpevor 6ES101  INOX 188

Koduig A B
7323 60mm 4mm

7326 T0mm 50mm

@

7325  TOmm50mm

61



Fwvieg | Corners Hsplypa(ct%)?_gscriptior V\%ight I'Isplypa(ﬂ]'d_lbl?_;scriptior WeéiZHt
15x15x1,9 0,132 10x10x4,0 0,100
20x20x1,5 0,160 30x20x1,50 0,200
25x25x1,5 0,200 50x20x2,0 0,370
B 30x30x1,5 0,240 60x60x3,0 0,950
40x40x1,5 0,318 75x50x5,0 1,640
I . 40x20x1,5 0,240 60x20x1,5 0,320
7‘_7Lg‘ﬁ? 50x30x3,0 0,620 60x40x4,0 1,040
50x50x2,0 0,530 80x40x4,0 1,250
60x20x1,5 0,320 80x20x1,5 0,400
100x20x2,0 0,640 100x100x8,0 4,150
100x50x5,0 1,960 120x20x2,0 0,750
Adpeg | Profiles |'I£p|ypaq2r|'1)iTE))escriptior V\(/ae'ig'ht I'Isplypcx(?rl'l)l_ll_l;escriptior V\?e'iz'ht
20x3 0,160 80x50 1,080
20x5 0,270 80x10 2,160
25x3 0,200 80x15 3,240
25x5 0,340 100x8 2,160
30x3 0,240 100x10 2,700
40x5 0,540 100x20 5,400
30x5 0,410 100x30 8,100
30x10 0,810 120x10 3,240
40x3 0,320 120x15 4,860
T 40x5 0,540 120x20 6,480
_:f[ 40x10 1,080 150x10 4,050
S — 40x15 1,620 150x15 6,080
40x20 2,160 150x20 8,100
50x3 0,410 200x10 5,400
50x5 0,620 200x15 8,100
50x8 1,080 200x20 10,800
50x10 1,350 20x10 0,540
60x3 0,490 40x8 0,860
60x5 0,810 60x8 1,300
60x10 1,620 95x11 2,822
60x15 2,430 95x11 2,822
Kapé | Square I'Ispwpa((t;’]d)l()_re)scriptior v\%ig-ht Hsplyp(x((ﬁ)r'!'_lbl?_sscriptior v\/eéiIZHt
12x12x1,0 0,120 40x40x1,5 0,624
——
T 15x15x1,5 | 0220 | 50x50x15 | 0,786
H - 20x20x1,5 0,300 100x50x2,0 1,580
25x25x1,5 0,380 60x20x1,5 0,620
] 30x30x1,3 0,403 60x40x2,0 1,041
40x20x1,5 0,460 80x20x1,3 0,684

62

/A\luminium
Profile




Aluminium Profiles AT

// Profiles AT

K(lpt': | Square I'Isp|ypa((E;']|_|bI(DT<=;scriptior vvee.iz'ht I'Isplypct((ﬁ;']'_lbl(a)r(;scriptior V\%ight
80x40x1,3 0,824 100x40x1,6 1,180
" - 80x80x1,8 1,520 100x50x2,0 1,580
100x20x1,5 0,950 100x100x2,0 2,120
] 120x20x1,6 1,180 100x100x4,0 4,150
TwARveg | Tubes I'Isplypang )|(1I_D)escriptior V\(lae.ilg.ht I'Isplypang )|(TD)escriptior V\%izht
®8x1Tmm 0,060 ®30x2mm 0,480
O10x1Tmm 0,080 ®32x2mm 0,510
d12x2mm 0,170 D42,4x2mm 0,685
®16x1,5mm 0,184 ®50x2mm 0,814
T ®16x3,5mm 0,370 ®60x2mm 0,984
d18x2,0mm 0,270 d70x2mm 1,154
-—D ®20x1,85mm | 0,285 ®80x2mm 1,320
®22x1,5mm 0,260 ®100x2mm 1,663
®25x2mm 0,390 ®120x3mm 1,154

®26x2mm 0,407

Aapapiveg
AAoupiviou

Mepiypaen | Description
(DxT)

Mepiypaen | Description
(DxT)

2000x1000x0.60 mm

2500x1250x0.60 mm

2000x1000x0.80 mm

2500x1250x0.80 mm

2000x1000x1.00 mm

2500x1250x1.00 mm

2000x1000x1.50 mm

2500x1250x1.50 mm

2000x1000x2.00 mm

2500x1250x2.00 mm

2000x1000x3.00 mm

2500x1250x3.00 mm

2000x1000x4.00 mm

2500x1250x4.00 mm

2000x1000x5.00 mm

2500x1250x5.00 mm

2000x1000x6.00 mm

2500x1250x6.00 mm

2000x1000x8.00 mm

2500x1250x8.00 mm

Ay

minium

rofile

2000x1000x10.00 mm
2000x1000x12.00 mm
2000x1000x15.00 mm

2500x1250x10.00 mm
2500x1250x12.00 mm
2000x1000x20.00 mm

- MMTOPOYN NA KOIOYN KAI NA EMNE=ZEPIAZTOYN KATOIIN MAPAITEAIAZ
- EMIZHZ YITIAPXOYN AAMAPINEZ TYTNOY KPIOAPAKI & MIMAKAABQTO

H ETAIPIA MAZ AIAGETEI YINEPZYITXPQNO E=OINAIZMO 0OMNQx
2TPANTZA - WAAIAI - KOMNH & KOAAHZH LASER

63



A\uminium
Profile

KATAAOIOZ

E=APTHMATA BIOMHXANIKQN META®OPEQN
ACCESSORIES CONVEYOR SYSTEMS

& www.aluminium-profile.gr

= sales@aluminium-profile.gr




MINIATURE DRI_

N J
CODE PRODUCT NAME A B C L L1 | Roller Material Weight
TL 10 30x30 Drive plate 82| 30 | 13 | 115 | 100 | 61802 | arwminio | 969
TL 20 45x45 Drive plate 10.2| 45 |13.6| 152 |129.5] 1202 | ,2KAHFO 1 210 gr
MINIATURE TEN_
e A

o J - J
CODE PRODUCT NAME A B (o3 L L1 | Roller Material | Weight
H (e]
TL 30 30x30 Tension plate 82| 30 | 13 | 115 | 100 | 61802 | AAStmmio | 969r
TL 40 45x45 Tension plate 10.2| 45 [13.6| 152 [129.5 1202 | A~SOHQ | 207 gr
4 I

N J - J
CODE PRODUCT NAME A B | E L L1 | Roller Material | Weight
TL 50 30x60-60x60 Tension plate | 80 | 38 | 20 | 165 | 60 - ANOYMINIO | 863 gr
TL 60 30x60-60x60 Drive plate 80 | 38 | 20 [ 165 | 108 | 6004 | AAOYMINIO | 931gr
TL 70 45x90-90x90 Tension plate | 90 | 55 | 19,3 | 200 | 69.8 - AAOYMINIO | 1043 gr
TL 80 45x90-90x90 Drive plate | 90 | 55 | 19,3 | 200 | 132 | 6004 | AAOYMINIO | 1115gr

65



23x127 DRIVE & TENS_

23x75 DRIVE & TEN_

4 N e N
TI_ENSION DRIVE o |

- J N J
CODE PRODUCT NAME Material Weight
TL 100 23x127 Tension Plate Ao | 1162.gr
TL 120 23x127 Drive plate 0o | 9T2gr

—//

25x105 MODULA
CONVE

4 I 4 I
TENSION DRIVE
- % & %
CODE PRODUCT NAME Material Weight
TL 90 23x75 Tension Plate Ao | 181 gr
TL 130 23x75 Drive plate Ao | 256 gr

4 N 4 N
o 25108
- .' PALLET
(2)5x105 “
MODULAR
M *% % [
A Ny
L ==, e
H\l‘"u..-l: o .
\ = ..rk ) \ )

CODE PRODUCT NAME A B E L L1 Roller Material | Weight
TL105 M 25x105 Modular conveyor left 90 | 40 | 14 | 170 | 130 6004 AAOYMINIO | 577 gr
TL105R 25x105 Pallet conveyor right 90 | 40 | 14 | 170 | 130 | 6004 | AAOYMINIO | 577 gr
TL105P 25x105 Pallet conveyor plate 120 | 65 | 17 | 250 | 185 6005 | AAOYMINIO | 1343 gr
TL150 M 25x150 Modular conveyor left 130 | 65 | 17 245 | 165 6005 AAOYMINIO | 1400 gr
TL110R 25x150 Modular conveyor right 130 | 65 | 17 | 245 | 165 6005 AAOYMINIO | 1400 gr
TL150 L 25x150 Pallet conveyor left 150 | 75 | 17 | 245 | 185 6005 AAOYMINIO | 1500 gr
TL150 R 25x150 Pallet conveyor right 150 | 75 | 17 | 245 | 185 6005 AAOYMINIO | 1500 gr

66




E=APTHMATA META®OPEQN

MINIATURE CONVEYOR JOINT

PLATE & ROLLER
6 8 10
(N | N |
/ N / N
|
- J - J
CODE PRODUCT NAME A| A1 B [B1| C D H Material | Weight
TL1 30x30 Miniature conveyor jointplate | 30 | - | 65 | - | 48 | - | 13 | AAOYMINIO | 129 gr
TL 2 30x30 Roller pin & connection parts | - |355| - |65| - | 33| 17 | AAOYMINIO |105,5 gr
TL 3 45x45 Miniature conveyor joint plate | 45| - |87,5| - | 655| - |17,5| AAOYMINIO | 343 gr
TLA4 45x45 Roller pin & connectionparts | - | 36 | - |57| - | 26 | 14,6 | AAOYMINIO |186,5 gr
ESAPTHMATA META®OPEQN 23x75 & 23x127 CONVEYOR JOINT
PLATE & ROLLER
/ N / N
) =~ -\
L] ‘- i ¥
g
- - J - J
CODE PRODUCT NAME A B (o] Material | Weight
TL 2375 LR 23x75 Conveyor joint plate 48 | 185 | 127 | AAOYMINIO | 450 gr
TL 237550 | 23x127 Roller ® 50 pin & connection parts | 29 | 36 | 50 | AAOYMINIO | 100 gr
/ N / N
. .
'_'-{;:‘.)f' ! -
M QL 0 B
e AR LT B
- :_; & 1L Y . ® \
R Vs .
Lehl. ";'f:v . R .(_':‘\1
i [
N - Y, N Y,
CODE PRODUCT NAME A B (o] Material | Weight
TL5R 23x127 Conveyor joint plate right 48 | 185 | 127 | anoymINIO | 1289 gr
TL5L 23x127 Conveyor joint plate left 48 | 185 | 127 | AAOYMINIO | 1289 gr
TL6 23x127 Roller ® 50 pin & connection parts | 39 | 60 | 50 | ArOYMINIO | 230 gr
TL7 23x127 Roller ® 90 pin & connection parts | 60 | 100 | 90 | AAOYMINIO | 686 gr
TL 8 23x127 Elevator interior roller connection | 32 | - | 50 | AAOYMINIO | 52gr

67



EZAPTHMATA META®OPEQN METAL SENSOR HOLDERS
6 8 10
[ | N>
4 N / N
. J - J
CODE PRODUCT NAME A B cC | D d Material Weight
TL 41 Sensor Connection Cassete Flat | 110 | 30 | 48,8 12,2 | 6.2 HRP 61 gr
TL 42 Sensor Connection Cassete Flat | 175 | 30 | 93,8 12,2 | 6.2 HRP 106 gr
TL 43 Sensor Connection Cassete Flat (L)| 128 | 30 | 48 |12,2 | 6.2 HRP 97 gr
TL 44 Sensor Connection Cassete Flat (S)| 168 | 30 | 28 12,2 | 6.2 HRP 118 gr
TL 45 Sensor Connection Cassete Flat | 110 | 30 | 48,8 18,2 | 6.2 HRP 61,5 gr
TL 46 Sensor Connection Cassete Flat | 175 | 30 | 93,8|18,2 | 6.2 HRP 101 gr
TL 47 Sensor Connection Cassete Flat (L)| 128 | 30 | 58 [18,2 | 6.2 HRP 106 gr
TL 48 Sensor Connection Cassete Flat (S)| 186 | 30 | 53 (18,2 | 6.2 HRP 146,5 gr
EZAPTHMATA META®OPEQN PLASTIC SENSOR HOLDERS
4 2 4 N
s
OIS
. J - J
CODE PRODUCT NAME A B c| D d E Material Weight
TL 31 Sensor Holder ® 10 | 60 | 20 | 30 |@19 |@10| 8 |[MAAZTIKO 20 gr
TL 32 Sensor Holder ® 12 60 | 20 | 30 |@19 | @12| 6 | MAASTIKO 17 gr
EZAPTHMATA META®OPEQN REFLECTOR CONNECTION PLATE
4 2 4 N
.-""""\.' ¥ i
. J - J
CODE PRODUCT NAME A B cC | D d Material Weight
TL 33 Flat horizontal 3 mm 64 | 92 | 44 |33 | 7 HRP 126 gr
TL 34 Flat vertical 3 mm 147,5| 50 | 48,8| 36 | 6.2 HRP 130,5 gr
TL 35 Conveyor (U) plate 146 | 90 | 103 | 8 8 HRP 685 gr

68



E=APTHMATA META®OPEQN CONECTION PLATES

& TORQUE ARMS
6 8 10
[ |
e a e A
T CONNECTION GRADE T
i / . .;rr.l
\ Y, \ Y,
CODE PRODUCT NAME A B (o] D Material Weight
TL 51 T Connection 120 | 126 85| zINC 283 gr
TL 52 Grade T Connection 120 | 126 | 3 | 8,5 ZINC 271 gr
e a e a
FLATT T FLAT
N ), N J
CODE PRODUCT NAME A B (o] D Material Weight
TL 53 Flat T Attachment 175 | 175 8,5 ZINC 601 gr
TL 54 T Flat Attachment 180 | 100 | 3 | 85 ZINC 563.5 gr
e B e B
— e o
. e -~ h‘_ e -.f; -"' B ;
.-__,{._ e 9 -
-
\ Y, \ Y,
CODE |PRODUCTNAME| D d A B L Material | Reducer Type | Weight
TL 55 | Torque arm | @45 | @8,2| 65 |1435| 101 |3 mm ZINC EV 25 95,5 gr
TL 56 | Torque arm | @55 |@8,2| 78 | 164 | 115 |3 mm ZINC EV 30 127,5 gr
TL 57 | Torque arm | @60 | @8,5| 90 | 155 | 100 |3 mm ZINC EV 40 125 gr
TL 58 Torque arm | @70 | @8,5| 100 | 170 | 106 |3 mm ZINC EV 50 164 gr
TL 59 | Torque arm | @80 |@10,5/ 115 | 200 | 130 |5 mm ZINC EV 63 333 gr
E=APTHMATA META®OPEQN TENSION BOLT-TENSION NUTS
e B e B
] o
// 5 M
\ Y, \ Y,
CODE PRODUCT NAME Material Weight
TL 71 23 x 127 Tension bolt STEEL 8.8 50 gr
TL 72 23 x 127 Tension nut STAINLESS| 29gr

69




'EEAPTHMATA META®OPEQN GRADE METAL FEET

- J - J
CODE PRODUCT NAME A B L min L max Material | Weight
TL 73 Grade Metal Feet (small) 180 | 233 570 870 ZINC | 3.12Kg
TL 74 Grade Metal Feet (big) 200 | 240 750 1200 ZINC | 4.82Kg
KEEAPTHMATA META®OPEQN SPEED ADJUSTMENT PANEL

4 N

g J

CODE PRODUCT NAME Dimension/mm | Inverter Weight
TL 75 Speed Panel inverter 0,37 Kw 145x150x230 | LS-SV-IE5 | 2.150 gr
TL 76 Speed Panel inverter 0,37 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr
TL 77 Speed Panel inverter 0,75 Kw 170x205x300 | LS-SV-IC5 | 2.950gr
TL 78 Speed Panel inverter 1,75 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr

' EZAPTHMATA META®OPEQN PALLET CONVEYOR ROLLER
6 8 10
[ i |
4 N
ll_-p -

o
- -d'. ! [
- J
CODE PRODUCT NAME A B (o3 Material Weight
TL 91 Pallet conveyor roller unbarrier | 80 | 40 | 18 | NAASTIKO 45 gr
TL 92 Pallet conveyor roller barrier 80 | 40 | 30 | nMAAsTIkO | 51gr

70



BOTTOM RET
ROLLER BE
~
o J o J
CODE PRODUCT NAME A | B | C| @D Material |Weight
TL 93 Bottom return roller bearing | 100 | 30 AAOYMINIO | 66 gr
TL 93/50 Roll Bed @50 25 |50,5|7,5 Nylon  |10,66 gr
TL 93/51 Roll Bed @51 30 515 9 |14 | Nyln [14,55gr
PLS ROLLER CHAIN ‘
4 j ) 4 )
- .-H..;L\-‘ y
_.-"';"\- //f,-"‘_ =
/ ’:&-fﬁ'% , e |
[ Eﬁ?‘f ,-“{ o
\ |II | i k 4
8o gy
- % - %
CODE PRODUCT NAME A | B | D | d | Material |Weight
TL 94 Roller chain wheel ®50 1/2 56 | 24,8| 50 | 12 | NAASTIKO | 82gr
TL 95 | Double roller chain wheel 50 1/2 [72,5| 24,5| 47 | 12 | nAAsTIKO | 87,6 gr
RS
4 N 4 N
g
- % - %
CODE PRODUCT NAME A | B (@D @d| Material |Weight
PLS 50 PLS roll head ®50 x 1,5 |27,5/19,5| 50| 47 | naasTiko | 60gr
PLS 30 | PLSrollhead ®30x1 |27 | 19 | 30| 28 | naasTiko | 11.50r
PLS 30 D | PLSrollhead ®30x1,5 | 27 | 19 | 30| 27 | naasTiko | 1gr
PLS 20 PLS roll head ®20 x 1 26 | 18 | 20| 18 | nNAAsTIKO | 559r
PLS 40 PLS roll head ®40 x 1,5 | 27 | 19 | 40| 38 | MAAZTIKO | 60gr

7



E=APTHMATA META®OPEQN

CONSOLE CONNECTION KIT

& SHAFT
4 ) 4 )
CLAMP HOLDER
AN o (70N
o N L LN Ty
AW A
i' ; -_-_J--. o e J :H -'i*‘lf .
LS I\%\}#E
- ” J \§ J
CODE PRODUCT NAME A | B | C | D | Material |Weight
TL 61 Console body connection clamp |55,5| 21 |21,8|@12| NAAZTIKO | 32,5 gr
TL 62 Console cross holder ®12 56 | 39 |21,5(@12| NAASTIKO | 27 gr
4 R 4 N
DOUBLE SINGLE
[ ai
130
- ) J - J
CODE PRODUCT NAME A B | C D | Material Weight
TL 63 Single shaft holder ®12 38 | 24 | 27 | @12| NAASTIKO | 249r
TL 64 Double shaft holder ®12 92 | 60 | 28 | @12| MNAASTIKO 96 gr
4 A ' N
|
1
. 1 J NG J
CODE PRODUCT NAME A D d H Material Weight
TL 65 Frame side connection mount | 93,5 | @50 | @10 | 77,5 | MNAASTIKO 486 gr
4 A / N
e
Ll WL
III
.. II
i
- J \§ J
CODE PRODUCT NAME A D d H Material Weight
TL 66 Triple Feet 44 |@482| @50| 150 | NAAsTIKO | 1360 gr
TL 67 Frame loner connection mount| 70 | @50 | @10 | 175 | MNAAZTIKO 344 gr

72



(e ovenercoweoren

-
CODE PRODUCT NAME gD | M | L Material Weight
TL 131 Console connection kit - - - Plastic 203 gr
TL 139 | Miniature console connection kit | - - - Plastic 179 gr

TL 133 |Console connection shaft (120mm)| @12 | M8 | 120 | Stainless steel | 103 gr
TL 134 |cConsole connection shaft (150mm)| @12 | M8 | 150 | Stainless steel | 130 gr
TL 135 |Console connection shaft (200mm)| @12 | M8 | 200 | Stainless steel | 175 gr

SIDE BARRIER PRO
& FRICTION PLA

PB 40

A 30

/?Q 65
S~ h

17

PB 60

N

) i Moment of inertia
CODE Size Quality |L (mm) ™ Iy Area Mass
PB 40 40 mm 6063 | 6000 | 0,50cm’ | 1,06cm’ | 1,52cm? | 0,41Kg/m
PB 60 60 mm 6063 | 6000 | 0,77cm’ | 6,10cm’ | 2,83cm? | 0,77Kg/m
CODE Size PRODUCT NAME A | B | C | Material Mass
PBB 40 | 40mm Side barrier (10x40) | 40 |95/ 4,5 PVC | 0,26 Kg/m
PBB 60 @ 60mm Side barrier (13x60) | 60 | 13| 7 | PVC | 0,35Kg/m

73



®76 TENSION DR_

4 N 4
L
N\ J N\

CODE PRODUCT NAME | ALUVINUM [oapaOs| L | L1 | AA | @D | @d1 | @d2 | Material | Weight
TL 151 ®76 Tension drum | 23 x 127 300 |366|315| 14 | 76 | 20 9 |ANOYMINIO| 2557 gr
TL 152 ®76 Tension drum | 23 x 127 450 | 516 | 465| 14 | 76 | 20 | 9 |AAOYMINIO| 3.607 gr
TL 153 @76 Tension drum | 23 x 127 600 | 666 | 615 | 14 76 20 9 |AAOYMINIO| 4.646 gr
TL 154 ®76 Tension drum | 23 x127 800 | 866 | 815 | 14 76 20 9 |AAOYMINIO| 6.321 gr
TL 155 ®76 Tension drum | 23 x 127 1000 [1066|1015| 14 | 76 | 20 9 |ANOYMINIO| 7.432gr
TLT 30 @76 Tension drum 23x75 300 | 366|315 | 14 76 20 8.5 |AAOYMINIO| 2.405 gr
TLT 45 ®76 Tension drum 23x75 450 | 516 | 465 | 14 76 | 20 | 85 |AAOYMINIO| 3.457 gr
TLT 60 @76 Tension drum 23x75 600 | 666 | 615 | 14 76 20 8.5 |AAOYMINIO| 4.509 gr
TLT 80 ®76 Tension drum 23x75 800 | 866 | 815 | 14 76 20 8.5 |AAOYMINIO| 5.911 gr

TLT 100 @76 Tension drum 23x 75 1000 |1066|1015| 14 76 20 8.5 | AAOYMINIO| 7.314 gr
— // *76 O DR_
4 N 4
e s 2 -
I & bl
e emeis o] G
L :- i -.I..
N\ J -

CODE PRODUCT NAME | ALo¥INUM |oapaos| L (L1 | A | oD | @d1 | @d2 | Material | Weight
TL 156 ®76 Drive drums 23x127 300 |516.6(315| 82 76 20 18 | AAOYMINIO| 2.943 gr
TL 157 ®76 Drive drums | 23x 127 450 |666.6|465 | 82 76 | 20 | 18 |AAOYMINIO| 3.973gr
TL 158 ®76 Drive drums | 23x 127 600 |816.6|615| 82 | 76 | 20 | 18 |AAOYMINIO| 5.017 gr
TL 159 ®76 Drive drums 23 x 127 800 [1016.6/815 | 82 76 20 18 | AAOYMINIO| 6.385 gr
TL 160 ®76 Drive drums 23 x 127 1000 [1216.6/1015| 82 76 20 18 |AAOYMINIO| 7.810 gr
TLD 30 ®76 Drive drums 23x75 300 |464.1|315| 82 76 20 18 |AAOYMINIO| 2.745 gr
TLD 45 ®76 Drive drums 23x75 450 |614.1|465 | 82 76 20 18 |AAOYMINIO| 3.797 gr
TLD 60 ®76 Drive drums 23 x75 600 |764.1|615 | 82 76 20 18 | AAOYMINIO| 4.849 gr
TLD 80 ®76 Drive drums 23x75 800 |964.1/815 | 82 76 20 18 | AAOYMINIO| 6.252 gr

TLD 100 ®76 Drive drums 23x75 1000 |[1164.1]1015| 82 76 20 18 | AAOYMINIO| 7.654 gr

74




®114 TENSION_

-
o J o
CODE PRODUCT NAME |®APAOZ| L L1 | AA | @D | @d1 | @d2 | Material | Weight
TD 30 ®114 Tension drums| 300 | 366 | 315 | 14 | 114 | 25 9 |AAOYMINIO| 4.446 gr
TD 45 114 Tension drums| 450 516 | 465 | 14 114 25 9 |AAOYMINIO| 6.231 gr
TD 60 114 Tension drums| 600 666 | 615 | 14 114 25 9 |AAOYMINIO| 7.665 gr
TD 80 ®114 Tension drums| 800 | 866 | 815 | 14 | 114 | 25 9 |AAOYMINIO| 10.220 gr
TD 100 ®114 Tension drums| 1000 [1066|1015| 14 | 114 25 9 | AAOYMINIO | 12.540 gr
TD 120  |®114 Tension drums| 1200 | 1271|1220 20 | 114 | 30 9 |AAOYMINIO| 17.160 gr
—// "’”“’R"’E_
4 I 4
I i
! !‘| :—'—I g g § e 1 1
i m—— s 22
I = ==
g J g
CODE PRODUCT NAME |®APAOZ| L L1 A @D | @d1 | @d2 | Material | Weight
TD30A |®114Drivedrums | 300 | 541315 | 138 | 114 | 25 | 25 |AroymiNiO| 5.235gr
TD 65 A ®114 Drive drums | 450 691 | 465 | 138 | 114 25 25 |AAOYMINIO| 6.979 gr
TD 60 A ®114 Drive drums | 600 | 841|615 | 138 | 114 25 | 25 |AAOYMINIO| 8.658 gr
TD 80 A ®114 Drive drums 800 [1041| 815 | 138 | 114 25 25 | AAOYMINIO | 10.980 gr
TD 100 A | ®114 Drive drums | 1000 |1241|1015| 138 | 114 | 25 | 25 |AAOYMINIO| 13.280 gr
TD 120 A | ®114 Drive drums | 1200 [1500|1220| 138 | 114 | 30 | 25 |AAOYMINIO| 18.200 gr

75



E=APTHMATA META®OPEQN ®50 ALUMINIUM ROLLER

4 N\ 4
L
L1
L2 CAPACITY
il 250 KG
=
Q <! T i i
&<F7 A‘L L =
- J -
CODE PRODUCT NAME L L1 | L2 | @D | AA | Material Weight
TL 290 ®50 x 290 Aluminium roller 335 | 310 | 320 | 50 | 8 |AAOYMINIO| 584 gr
TL 440 D50 x 440 Aluminium roller 485 | 460 | 470 | 50 | 8 |AAOYMINIO| 816gr
TL 590 ®50 x 590 Aluminium roller 635 | 610 | 620 | 50 | 8 |AAOYMINIO| 1.079gr
TL 790 ®50 x 790 Aluminium roller 835 | 810 | 820 | 50 | 8 |AAOYMINIO| 1.384gr
4 N\ 4
L
L1
| - | CAPACITY
‘ ‘ 300 KG
= 4
Sl -
g J g
CODE PRODUCT NAME L L1 | L2 | @D | AA | Material Weight
KNU 29 |50 x 290 Aluminium KNURLED | 335 | 320 | 320 | 50 | 8 |AAOYMINIO| 880gr
KNU 44 |50 x 440 Aluminium KNURLED | 485 | 460 | 470 | 50 | 8 |AAOYMINIO | 1300 gr
KNU 59 |®50 x 590 Aluminium KNURLED | 635 | 610 | 620 | 50 | 8 |AAOYMINIO| 1720 gr
KNU 79 950 x 790 Aluminium KNURLED | 835 | 810 | 820 | 50 | 8 |AAOYMINIO| 2280 gr
KNU 99 |$50 x 990 Aluminium KNURLED | 1035|1010 | 1020 | 50 | 8 | AAOYMINIO | 2850 gr

E=ZAPTHMATA META®OPEQN ®51 STEEL ROLLER
e R e
L
L1 .
L2 CAPACITY
‘ 400 KG
8 2‘:«[; ]
N J N
CODE PRODUCT NAME L | L1| L2 | @D | AA | Material | Weight
TL290 S 51 x 290 Steel roller 318 | 300 | 290 | @51 14 Steel 1603 gr
TL 440 S ®51 x 440 Steel roller 468 | 450 | 440 | @51 14 Steel 2426 gr
TL590 S ®51 x 590 Steel roller 618 | 600 | 590 | @51 14 Steel 3162 gr
TL790S ®51 x 790 Steel roller 818|800 | 790 | @51 | 14 Steel 3987 gr
TL 1000 S ®51 x 1000 Steel roller 1018/1000| 990 | @51 | 14 Steel 4812gr

76



E=APTHMATA META®OPEQN MINIATURE TENSION DRUMS

4 N 4 N
L
L1
|
fffff B
- J - J
CODE PRODUCT NAME |®APAO:| L | L1 | @D | @d | Material | Weight
TDS 25 ®30 Tension drums| 25 42 | 28 | 30 | 15 Steel 160 gr
TDS 55 ®30 Tension drums| 55 72 | 58 | 30 | 15 Steel 346 gr
TDS 85 ®30 Tension drums | 85 102 | 88 | 30 | 15 Steel 645 gr
TDS120 ®30 Tension drums | 120 140 | 126 | 34 15 Steel 855 gr
TDS 40 ®45 Tension drums 40 63 43 45 15 Steel 668 gr
TDS 130 | P45 Tension drums| 130 153 | 133 | 45 | 15 Steel 1.927 gr
TDS 150 | P45 Tensiondrums| 150 176 | 156 | 49 | 15 Steel 1.979 gr
TDS 200 | ®45 Tension drums| 200 226 | 206 | 49 | 15 Steel 2.919 gr
TDS 300 |®45Tensiondrums| 300 | 326 | 306 | 49 | 15 Steel | 4.389gr
TDS 450 |®45 Tensiondrums| 450 476 | 456 | 49 | 15 Steel 4.399 gr
EZAPTHMATA META®OPEQN MINIATURE DRIVE DRUMS
4 N 4 N
L
L ]
8 \ s
- J - J
CODE PRODUCT NAME ®APAOX L L1 | @D | @d | Material | Weight
DDS 25 ®30 Drive drums 25 121 28 | 30 | 14 Steel 256 gr
DDS 55 ®30 Drive drums 55 151| 58 | 30 | 14 | Steel | 4559r
DDS 85 ®30 Drive drums 85 181 88 | 30 14 Steel 723 gr
DDS 120 ®30 Drive drums 120 219 | 126 | 34 | 14 Steel 989 gr
DDS 40 ®45 Drive drums 40 140 | 43 | 45 | 14 Steel 650 gr
DDS 150 ®45 Drive drums 150 253 | 156 | 49 | 14 Steel | 2.376gr
DDS 300 ®45 Drive drums 300 403 | 306 | 49 | 14 Steel | 4.543 gr
DDS 450 ®45 Drive drums 450 553 | 456 | 49 | 14 Steel | 6.706 gr

77



E=APTHMATA META®OPEQN KNURLED TENSION DRUMS

CODE PRODUCT NAME |(®APAOZ A (L (L1 |9@D | @d Material | Weight

KNT 40 @45 Tension drums | 40 25|63 |43 | 50 | 15 |AAOYMINIO| 170gr

KNT 85 ®45 Tension drums| 85 | 25 [108| 88 | 50 | 15 |AAOYMINIO| 260 gr

KNT 130 | ®45 Tensiondrums| 130 | 25 |153|133| 50 | 15 |AAOYMINIO| 350 gr

KNT 150 | ®45 Tensiondrums| 150 | 25 [176|156| 50 | 15 |AAOYMINIO| 390 gr

KNT 175 | ®45 Tensiondrums| 175 | 25 |198(178 | 50 | 15 |AAOYMINIO| 430gr

KNT 200 | @45 Tensiondrums| 200 | 25 [226[206| 50 | 15 |AAOYMINIO| 490 gr

KNT 300 |®45 Tensiondrums| 300 | 25 (326|306 | 50 | 15 |AAOYMINIO| 670gr

KNT 450 | 45 Tensiondrums | 450 | 25 |476|456| 50 | 15 |AAOYMINIO| 950 gr

E=APTHMATA META®OPEQN KNURLED DRIVE DRUMS
4 N 4 N
L
L1
‘ 3
‘ | ™ |
e ——— %E!
A 8 B
\§ J \§ J
CODE PRODUCT NAME ®APAO: | A |B | L | L1 | @D | @d | Material | Weight
KND 40 ®45 Drive drums 40 25 | 45 [140 | 43 | 50 | 14 | AAOYMINIO | 270 gr
KND 85 ®45 Drive drums 85 25 | 45 |185 | 88 | 50 | 14 | AAOYMINIO | 380 gr
KND 130 ®45 Drive drums 130 25 | 45 |230 | 133 | 50 | 14 | AAOYMINIO | 470gr
KND 150 ®45 Drive drums 150 25 | 45 |253 | 156 | 50 | 14 | AAOYMINIO | 510 gr
KND 175 ®45 Drive drums 175 25 | 45 |275 (178 | 50 | 14 | AAOYMINIO | 550 gr
KND 300 ®45 Drive drums 300 25 | 45 |403 (306 | 50 | 14 | AAOYMINIO | 790 gr
KND 450 ®45 Drive drums 450 25 | 45 [553 (456 | 50 | 14 | anoymiNio | 1070 gr

78



Z4

MODULAR & PALLET CONJ\“

DRIVE AND TENSION Mi

4 N
\ J
L2
A L3
&
o
Q)

CODE PRODUCT NAME ®APAOX| L L1 | A | @D | @d | Material Weight
PDM 190 Pallet conveyor drive miller | 190,5 |241,5/209,5| - | @30 | @25 Steel 1270 gr
PTM 190 Pallet conveyor tension miller 190 |344,5/209,5| 119 | @30 | @25 Steel 1650 gr

N 4 N
) \ J
L2
L
L1 A L3
—-—€ — — - —- - :?
8 g 8 8

CODE PRODUCT NAME ®APAOZ| L L1 | A | @D | @d | Material Weight
PDM 200 Modular conveyor tension shaft 200 250 | 218 | - | @30 | @25 Steel 1300 gr
PDM 300 Modular conveyor tension shaft | 300 350 | 318 | - |@30| @25 Steel 1860 gr
PDM 400 Modular conveyor tension shaft | 400 450 | 418 | - | @30| @25 Steel 2410 gr

PDM 200 S | Modular conveyor drive shaft 200 353 | 218 | 119 | @30 | @25 Steel 1680 gr
PDM 300 S | Modular conveyor drive shaft 300 453 | 318 | 119 | @30 | @25 Steel 2240 gr
PDM 400 S | Modular conveyor drive shaft 400 553 | 418 | 119 | @30 | @25 Steel 2790 gr

79



4 N
. J \_ )
CODE | PRODUCT NAME | Material | Weight
RR 35 Roller Rail Zinc | 959 gr/m
AIATIOETAI 2E 6m / 3m BEPTA
4 N Ve ~
@+
1 =
<N &
...?19 - !'ﬁ gt
- ) N )
CODE | PRODUCT NAME | Material | Weight
RC 35 |Roller R Conection sheet|  Zinc 50,5 gr
e N e N
i
e

. v

i \H"‘"f ¥ - i

i, | T

- ) N )
CODE | PRODUCT NAME | Material | Weight
RFS 35 & Stopping St | Zinc | 63gr

80




MEIMARIDIS

B R 0O S

LAND

81



"

® TpOTTOG TTANPWHUNG METPNTOIG

® Ta YETAPOPIKA ETTIPAPUVOUV TOV TTEAATN

® O TTaPWV TINOKATAAOYOG KATAPYEI TOV TTPONYOUNEVO

® > 10 TTPOYIA OeV yivovTal ETTIOTPOYPES

® X Ta ECAPTAMATA Ol ETTIOTPOPES Ba yivovTal KATOTTIV ouvevvonong

® XpOvog TTapadoong KATOTTIV OUVEVVONONG

® H cTaipia dev QEPEI Kapia euBuvn yia Tuxov @BoPES aTTd TNV PJETAPopA

APIOMOZ AOIAPIAZMOY TPAIEZA MNEIPAIQZ:
Ap. Aoy.: 5242 0035 75529
IBAN: GR 22017 22420 00524 20035 75529

-

82



INDUSTRIAL ALUMINIUM PROFILE SYSTEMS

AN A\Limini
” ” Uminiudm
Profile

/g\/l/:\\ MEIMARIDOIS

B R O S

EMIMOPIA ZIAHPOY-AAOYMINIOY-'YWOZANIAAZ-XPQMATQN
2OBAAQN-INOX NMANTQZ TYNOY-BIOMHXANIKA EPIAAEIA
(ZTPANTZA-WYAAIAI-KYAINAPOZ-KOINH & KOAAHZH LASER)

Aoor MEIMAPIAH O.E.

2tadiou 97 - Bépola
TnA.: 23310 23342 - 23178 / Fax: 23310 67869
www.meimaridis.gr | info@meimaridis.gr

KNAUF (Fitex) Aminco xaer EXSERS

MODULAR CONSTRUCTION TECHNOLOGIES

KATAAOIOZ PRODUCT LIST
JANUARY

e-mail: sales@aluminium-profile.gr
www.aluminium-profile.gr




